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Identify the proper sequence of the steps involved in

checking salarics.
1. Deduction on account m" Provident fund, Income

tnx cte. should be checked.

2, Recipient’s ncknowledgement, bearing proper
revenue stamp, be checked.

3, Cheques drawn should be tallied with salary
register,

4. Costs and Cross costs of salary register should be
checked and amount be agreed with Cash Book.

5. Authority for increment should be checked.

Choosethe correctanswer from the options given below:

(A) 4,3,2,1,5 (3) 1,2,3,4,5

(©) 2.3,4,5,1 (D) 3,4,5,1,2

(E) Question not attempted
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(A) 4,3,2,1,5 (B) 1,2,3,4,5
(©) 2,3,4,5,1 (D) 3,4,5,1,2
(E) argafd wad

2 ‘Co-ordination’ refers to which of the following?

(A) The harmonious blending of activities of difTerent
departments for attainment of goals

(B) Identifying objective

(C) Delegation of authority and fixing responsibility

(D) Determination of standards for measuring work
performance

(E) Question not attempted
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n of the following are duties oy
:thTo signas Drawing and D;sbuls ngofy;
" tobe prcscntcd to the treasury,

2. To maintain register OfAdvancc and A

3.
that ycar —_
To exercisc all the administratjy, Powers

: delegated to HOD.

Choose the most appropriate answer from
iven below :

(gA) 2 and 3 (B) | and 2

(C) land3 (D) 2and4

(E) Qucsuon not attempted
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Match List I with List II.
List I List 11

a. Preparation of bills I. Accountant
b. Final authentication  1I.. Auditor

of bills
¢. Passing of bills 1l DDO o
d. Examination of bills IV, Treasury offi
Asst, Treasu?y
officers
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Choose the correct answer from the optif

below :
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(A) o-llL, b1V, ¢l d-11 (B) oI, b-1h 9

(C) a-lll, b1, ¢y, d-I (D) adll, b o1

(E) Question not attempted /
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‘Memo ‘
b I;J:?ndum Book® contains details of:
& B erred Revenue expenditure only.
o outstanding assets only.
5 utstanding lialﬂ;tics only.
p oth ttutstandin Tsscts and outstan
) Question not qun}ptcd
3
A (ST9) g«ﬁﬁmmw“
(A) Faw sl T =d B
(B) et g qreaam o
(€) Faw T
Eeoo| iﬂ”t?ﬁl @
(D) 9 (&) R e o () Rl

] »
()aﬂﬂﬁﬁﬂﬁo\

Which of the follow('é?g is concerned wit
Standard 3 (AS-3)? ey

(A) Association of @'sons .

(B) Cash Flow Statf_n}ent
(C) Statement of P{o\t;t an
(D) Balance Sheet e

(E) Question not attempted _ '
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.The major ' causes of {1aw development of

entrepreneurship include : )
|. Being motivated only by money
2. Passion for the businessy]

3. Tenacity despite failurQ\j
& Not listening to feedback of customers

5. Thought that “entrepreneurs are born™

Choose the most appropria
. nsw
given below : Q er from the Options

@ ,4,and 5 only

() 1,2and 3 only .
2,3and 4
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i ive and
ier or any person authorised to receive anc
The St 4 p\.fill be responsible in respect of :

andle Govt. money Wi [
lil maintenance of Bill Transit Register.

- i from treasury.
" to carry money to of bring money fror
g. to issue cheques for advances to be given to
4,

Govt. servants. :
recovery of unspent balances from salary for
advances given to Govt. servants for office

expenses. )
> I with reference to closing balance

5. tocheckthecas
of cash book at the end of the month. _
Choose the most appropriate answer from the options

i low :
iven below P 3 gi] 3

A) 2,4and 5
%c% 1.2 and 4 (D) 2,3 and 4

uestion not attem ted
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(A) 2,485, (B) 1,233
©) 1,284 (D) 2,334
(E) Sraiea W

is not a barrier to communication.
(A) Filtering (B) Technical language -
(C) Simplicity (D) Inattention
(E) Question not attempted :
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(C) wTeral (D) 4T el &
(E) &raid ue .

“When X works with Y, each finds himself influenced
by the other and both are influenced by other persons
and factors in whole situation.” Identify the principle
of coordination involved.

(A) Principle of continuity

(B) Principle of direct contact

(C) Principle of reciprocal relationship

(D) Principle of early start

(E) Question not attempted
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[dentify the criterion which will help 1o K
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apital Expenditure Mangiy
ga\; gcsenuc Deficit i
(C) Fiscal Deficit
(D) Revenué Expenditure
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Match List I with List IL.

ListI, List I1
a. Compliance 1. Reviews the efficiency of
Audit all operations to give
_ strategic solutions,
b. Management  IL Entails audit in depth iny

gularities on reported
llegation.

.! Reviews adherence to
Law, regulation etc.
Verifies that there are
sufficient controls over
cash, cash like assets, and
control over acquisition
“and use of assets.

_ Audit

¢. Financial

Audit
d. Investigaifon
- Audit
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Choose the correct answer from the options g
below: , :
13 foq 7 et 3y werc T A A

(A) a-lIL, bel, c-IV, d-11+ (B) a-L, b-Ib eIl ‘i:]‘l’“
(C) a-lll, bell, -1, d-Iv (D) 2111, b-] s
(E) Question not attempted / Lo
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‘If the tri
¢ trial balance agree’, it implies that ;-

in the books € one sided error and two sided crror

(B) There is no error at all

lere ]
Tl € may be two sided error in the books

ICre may be one sjd
s ) ed error in the books
?L‘.) Question not attempted
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(D) T8 3 -t gt v 1

(E) srgafa we

ldem_i fy the correct order of the verification process of
physical examination of the Assets.

1. Verification of existence of Assets on the date of
Balance Sheet. .

2. Enquiry into proper value of Assct.
3. Verification that Assets were acquired for the
business.

4. Examination of ownership and title of Assets.
5. Assurance that Assets are free from charges.
Choose the correct answer from the options given
below: .
(A) 1,5,4,2,3 (B) 1,2,3,4,5
(C) 1,4,3,2,5 (D) 1,3,4,5,2
(E) Question not attempted
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[, Increase in cash b{) ; 3-0’0

2. Decrease in stock Y 328000

3. Decrease in stock ?)t;y 7 5,000

4. Decrease in capitd 000 jons
5. Increase in capital by ii'nswc ¢ from the OP

C.hhosc the most appropriat
{,2and3 only

given below :
(A) 3,4 and 5 only (B; {.3and3 only /

2,3 and 4 only _
E(E:; Question not attempted v3i 000 2y A
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©) ¥aw@2,3T4 (D) Faw 1,335

(E) i us

The purpose of Disinvestment in India was mainly
o '

1. Improve financial discipline and facilitate
modernization. )

2. Noneed to give Bonus to the employees

3. Managerial capabilities could b :
to improve the performance,

vos W

e effectively ygeq

- 4. Granting status as Maharatnas. -

Choose the most a

ppropriate '
given below: priate answer from the Optiong
(A) 3and 4 only (B) 1
(C) 2and3 only (D) 2 only

) 1
(E) Question not attempted and 3 only
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Match List I with List I1.
ListT List 11

a. Vouching in-depth . Backbone of Auditing.
b. Vo.“ch'“% Il. Original Invoices.

¢. Primary Voucher 1, Com yrehiensive

' cheeking of necounting
systefi,

d. Tecming and A &lﬂﬂcr using money

Lading forgprivate purpose,
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" Chooscthe correctanswer from thc;‘;o}iions givenbelow:

fag @ T - aa BRI
(A) a-1l, b-1I1, c-1V, d-1 (B) af1ob-11, -1V, d-l11
(C) a-L belll, c-IV, d-1l (D) aglil, b-l, c-11, d-1Ve
(E) Question not attempted / G@W weT

Match List I with List I1. O
List 1 ListIl
a. Product I. Assessment of
feasibility management expertise,
resource sufliciency clc,
b. Market 1. Analys‘i‘;‘l}‘: whether
feasibility busine&Siden is worth

pursuipg,in terms of over
all finapcial attraction,

¢. Organisational Il Overall ippeal of market

feasibility for theproduct, including
indust laéallmction.
d. Financial IV, Assessmént of overall
feasibility appeal@( the product
including product
desirability and product
‘ demand.
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(C) a-IV, b-lll, -1, d=1 (D) ?Tj, bell, -1, d-1V

(E) Question not attempted /9 c'_,l\ilﬁil uyl

AY

22

“List 1

GET IT ON
Google Play

Government SCrvants exempted fr,

[enl certilicate are = N
|lnctl A retired government servany lioy

W Q. ‘
relirement. S N Emph,m
n A povernment SEIVand in q ey
2 “p};nlnlcd ngainst ‘ll-l‘clnpm‘:“f;:ﬁ‘;lv oy
u.\'ccctlinglslx mnml;ls.‘llt;mllnn_ ‘“‘anc,“g
yerson 1s resemplpyed afler rost
. |A|iq' past .-;cr».'lcn:ﬂ.l }n’: ] Feslgnatio
4. A lemporary BOVL sérvhint whg |y,
I medicntly examineddinone nmcl:.si‘:':udy
(o another oflice wit l(!Tl a break |y m’:‘psf%
Clioose the most appropr ‘(.]!:] answer frop thclcgll
siven below Ot
A) 3and 4 only ((n) l""d!omy
?C) 2 and 3 only (" 2and only
1}) ()u%:s-tioiqa ll-l_{vﬂ d}liil;"{('mpml .
“ulll ! !"F o ] “WIIHIQH‘R{‘!( ﬂ'[!éL
I t(!m\tni?rtmﬂvn'&murn,ﬂmpmm;;
frrRrty O
5, gt Ao e 5 TG W hurad aremss,
WPR%UI R w3 X O oy,
1

w N A
3. AN g z\mm%-\ﬁimgq;fﬁ

@l
A qm:mmdmmﬂuﬁhrﬂﬁnmmmn
amrafera W RuRreraEr Qar B ga e shas

Tm%m\ramm Wi
1l
AV Ry e Rl 3 9 TR SUYER SR H UAET

m produ

(A) e 3 AT () Fas 132
(C) ¥ 2 9l 3 (1) Fe 2904
() argafa wa N

Match List 1 with List 11, (¥)
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a. Internal Control' 1. —~Quality control

b. Internal Check |I.C|m|cpcmlcntaprm‘.ﬁ

(Mo review the orRn®
and reconds.

UL ‘Work of one stail

c. Internal Audit :
automatically Ches

by another
d. Administrative  1¥2Whole system @
Control afepuand assets
maintain accues? ¥
sliability.
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.4.4 :::‘c:::llfz' ;:l:l: gg(r,r::lt“ cc!ualion which depicts the situation
(A) GDP +GNp = 0 . (B) GDP=GNP

(C) GDP > GNp (D) GDP <GNP

(E) Question not attempted

fonelt witars (efe) —srefeararan 3 afeod o Prerfifaa i 4
BT % Wil & 7

(A) G+ N =0 (B) Mt = o

©) R > (D) hdd < ey

(E) Srgafd e

Who shall keep the Finance Department informed of
the progress of collection of revenue under their
control? !

(A) The Treasury Officer
(B) The Head of Department
(C) The Controlling Officer
(D) The Collector of revenue
(E) Question not attempted
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(A) waf@mrr

(B) favmmema )\

(C) Prdr aiftrarll

(D) e TUTEH (HTER) p
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Authority having the powers to impose and realise fines

shall ensure that - | B
(A) the money is realised, checked and deposited in

the treasury.

(B) fines are colle '
(C) themoney is realised and deposited

of cashier.
(D) refunds are adjusted from the fines.

(E) Question not attempted
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D) w7 andh (i) @ ot @ e e

W &1

!

25

16

cted to achieve the budget targets.
in safe custody

(E) argafea 94

27

28

GET IT ON
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?

Which of the following
I. Salc of merchandis

p 5 Cummilml‘r}'nlion;:n:l
3, Winning Nation: .
4. !'nlymanf of monthly rcm'lc 0 cmplo)’eth . opuoﬂ

5. Outstanding salary pa_{? answer

Choose the most appro 43
given below ®) b 2an
(D) 3

(A) 1,4and 5 only
Q¥
) @

o (25 3 o 4n(c)>rt“ayttcmp!cd
(E) Question
srzd (frad
e s an’r'tﬁﬁaei o AT
%1 gfraad e
E{“;m |

T (1e7)
oY S 4 g
SugH

Fae 1,283
et 3,4 TS

1.
2,
3

(B)

BT
. (A) % 1,435
(D)

(C) ¥awm 2,334
(E) raia 99

CreationAor provision for Bad Debts leads to :
(A) Crediting Provision for Bad Debts Account
(B) Debiting Bad Debts Account

(C) Debiting Debtors Account
(D) Debiting Provision for Bad Debts Account

(E) Question not attempted

AfTe gaa 1 & WaHT e § | @l gt Arar s ?
(A) T3 FOT WIGL B T ST

(B) @@ YT @I &I A &HTAT

(C) IR Wid &Y AW BT

(D) AT 1 WU &I A ST

(E) - oifaia we

Match List I with List I1.
List I List 11

a. Final good I. Usedi - '
b. Intermediate 1. \\fi?l nl:tl::r:::;l:;t;gn process
c Eopion 1, D
’ o pion  IIL Used as rqyy Materia]
d. Capital good |V, Purchased by 111,
:g] | igmu gl 1l & frar m‘:ﬁ’ ltimae Customer
1 T -
n. SR TSR 1. T e '
b. wemedi A |y, mmza'd."'ﬁm%
c. SMIEE o, ma}qm@mw
. 3 T ol & L
AR 1V aifig Ty
Choo o e b - =
sethccorrccmnswcrI‘romlhe i
MY R g Rl 3 ) iy T op""ﬂssiven
(A) a-IL, b-111, c-1V, 4. B) M Ty below,
(B Sucsne &l ©) gV ear e
: onnot attempted / grref b C-If 4 M1 |
%wm L dly
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¥ feasibility analysis

— incrc:!ses the effectiveness of communication,
(A) Integrity (B) Technical language
(C) Lesser coverag (D) Pre-concelved notion
(E) Question not ﬁngmptcd

Srénfiren w @ A4 &

T
(A) vt ) (B) TR vy

(C) e s (raten) (D) et ureem
(E) ¥guia e

The currency held lg-'Jhc public, required reserves and
excess reserves of commercial banks combinedly
known as ;

(A) Legal tendered Moncy

(B) FiatMoney

(C) Narrow Mone

(D) High Powered}: urrency

(E) Question not aitfémpted

e g Tl T o, g s it At
¥ Sfaiea SR R G eI q ___ SE o ¢
(A) Pq-fhmgmo, (B) arfufye e

(€) SghmyE .. (D) S AR A
(E) Srgafeasst = - |

0
Arrange the steps:in the process of developing
successful business-in correct sequence :
1. Assessing financial strength and viability
2. Getting funds”_’
3. Developing efféctive business model and legal
foundation
4. Recognising épportunities, generat

ing ideas and

5., Writing busiqes_? plan; Industry and Compctitor

analysis .
Choose the correct answer from the options given
below : &

(A) 4,5,3,1,2 B) 1,2,3,4,5
(D) 3,4,5 1,2

(C) 2,3,4,5. 1

(E) Question not_(a‘-'t}emptcd
awa T Rrstid w0 & wiedt & ot A g

@i & ey ;
h e Wémnfm(m)mmm' &

1, faeia gaear OF,

2. e (R

3, yyrdl @aad Jsd
famfta &I

4. sl @1 qrar &, ferarrgeT qd STgEl
fagdraw &

5. v v T, wam e aftegu e

3 fag 7 P A @ W warC a W i

(A) 4,53, 1,2 B) 1,2,3,4,5
(C) 20 3! 4- so I % (D) 3. 4. 5. |.2

(E) mgaﬂﬂvﬁ}!

d faftras s (mum)

33
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Which of the following receipts must be stampegy

. 210,000 paid toa Gowt. servant for dcpa"'“tmal
purchascs. '®)

2, Net nmount payable onya billisT 5,100,

3. Gross amount payab]e,on bill is 24,500 but g

payable is T 4,500. .
4. Cheque drawn by Public Works Departmen,

amounting to ¥ IS.O(L)
Choose the most qppropri{lt‘i answer from the options

given below

(?[l) I'and 2 only

(A) 2only

(C) 3only (D) 2 and 4 only

(E) Question not attempte

A & & Rl o€ Wi e

1. mrﬁmuﬁfaﬂnﬁ'qmﬂz%ﬁmtm,mg
WaT B T ()

2. fret w3 Praw kT €-5,100 B 9T

3. ﬁawhmrﬂtﬂ.soo.ﬁmgﬁ%am

R % 4,500 ¥ 9T

4, aﬁmﬁﬁwﬁnmzmgs,oooaﬁnﬂr%:%%

gar 9T

A e e R A & g S S
(A) &aw 2 @ Faw 132
(C) &aw 3 (D) Faw 2 34
(E) orafa we (@]
N

Identify the term highﬁ'\g\ned by the following
statement:

“Obediance to rules and Egulntion of organisation.”
(A) Discipline o
(B) Unity of command o)
(C) Unity of direction (y)

(D) Subordination of Ir@yidunl interest to general

Interest ()
(E) Question not uttemp[ec_l
41 Ru wuA Ta SETCE T SrHren & TEaH
Wl '
e & Praw q R @ SrmaTEA
(A) AT o
(B) TR & TEHA )
(©) Frkar o ™

(D) mwmfh‘ﬂuhgﬂmgﬁuﬁmmftauhrhﬂm

@ sgufmerd O
N roT.O
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‘Lapping’ is related to;
(A) Amethod of Vouching non-cash transaction.

A device
N from dcbtg?d to detect misuse of cash collected

C) Amal' ¢ ] H A .
( use of go::;i‘ilby which cashier makes Private

(D) A method f&f ; '

(E) Question n(:)t‘eh :flll‘}:'l‘ilca?h transaction,

AR T NI t(")

A) T-THA TS _

® faftr aﬂ%ﬁm (amafim) w2
11 N e, e s 8 el

(C)Wm%ﬁﬂm&m.
aﬂﬁ;hhr:\g %‘I. W(Wwﬁrrﬁ

(D) W& WA-37 ] WA (arsfii ot
fuftr) é (qrefin) Fe %t T

®) ot R
Match List I with igtll.
ListI List 1T
a. Substantive (OQI. Withsupplier,
coordination (73  govemnment, consumer efc.
b. Procedural ¢3yII. Between different
coordination (vy departments such as
o production, sales,
finance etc.
c. Horizontal Il Concerned with contents
coordination of organisation’s activities
d. External V. Generalised description of
coordination behaviour and relationship
O of members in the
organisation -

answer from the options given

Choose the corréth
below : @)

3 fq e Pl & W ST

'I b'"l
(A) a1V, b-l, c-llng-1il () ol h, &1
() a1, b1V, el a1,

(©) a-I1, b-11l, c-1V, d-l,
(E) Question not attempted / et 99

w1 aa Sy
c-lll, d-1V

37

38

GETIT O
Google Play

Match List 1 with List 11 pist 11 ) 39 &)
List] Sec
a. Appointment of o 41

Auditorby CAG L. gecti

b. Qualification and 3

lification 0 4
disqualifica el " Secﬁoﬂ‘l 2

Auditor.
c. Powers and dutics of (1
i (1 § n-|43
Auditor © v Sectio
d. Remuneration of Audite '
Wlfﬁmuqﬁ{lmﬁm_, o
W oM 139 6)

2 @, g dar-whas—

Afg . O .
b, - ke I ge-14]

fregatd 8} ;
.. drr st W ge-142
o (@) OO\,

A, der-qlas o wreas V. us-14 iven

Choose the correct answeér from the options Bl

below: (] )

ﬁﬁqmﬁmﬁﬁaﬁmmmﬁm -

(A) a-I1, b1l 1, d-IV _(B)* -, bell, ¢, d-IV

(€) a1V, b-111, c-11, d-15(D)- a1, b-11, c-IV, d-111

(E) Question not attempted / STFRIG N

O

Which of the following¥government servants are

exempted from production’'of medical certificate?

(A) AGowt.servantinaclass IV service appointed in
a temporary vacanc{!.‘gf nine month duration;

(B) A Govt. servant promoted from non quali -
service paid from local fund to a post in lfyl.ng
service under Gowt. Superior

SE e mg‘“’ through a competitiye

examination who had to
examination. ‘ undergo medical

(D) A Govt. servant rt-rgl’n
ployed :
from the post wheré he haﬂ to 12;" fesignation
examination, '® - TCETBO medicy)

(E) Question not attempted
Prafifem & ¥ 27 ¥ T

s g 4 by R
(A) =T 2 orafe s Srearah gy
1V 3 1 Y el e ““ﬁﬂ'ﬁaﬁ
() TR % SR e ey ¥ ~
P T oy o, 3
W R ey R
(© SRR T T g g
et 01 5 gy 0 S
(D) wﬂmmtqmﬁq:ﬁgﬁmmtlm A

WET 9T T
© %Wﬁﬁﬁwﬂ%
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Which afthe followfng departiment subinits a statement
anunally, showing the remission of revenue and
abandonment (o the Finanes Department?

(A) Bdueation departent

(1) State Mwise department

() lirlgation department

(1) Dansport department

(1) Question nt attempted

PpafiRa N A e e R R Ry W
g od et w Rk wol w Rere w
el Rrereoll O g e &

(A) R Rt

@) e e (e yEs) R

(© Riwd Rewm

(D) uhaet R

(1) drgai v

Which o the following principles shall be kept in view

while sanctioning grants to institutions’organization?

. Grants shall be made avallable on the basis of
specific schemes,

2. Ondershall specity clearly the objective forwhich

grant is given,
3. Grantsin-aid can't be sanctioned to private

instimtions,
1. Grant-in-aid money shall be drawn In advance of

requirenients,
Choose the MOt ApPropriate answer from the options

piven below
(A) Yandd (B) toand2
() land 3 (D) 2and 3

(1) Question not attempted

e A ) TR W L A W Pl
A2 Rt R W) wnt N T ufte?

1o e R atarTiof A IUTT YT TTERU WY

o wiiku)
Sider ) W w A Y TR U W WA wifty Pradi

R areper Rt b
3, uea-arEr PRl el farg stope Tl

R
4, er-orger Tl aifti w R Sl Al

franen s "
DA g ey Prareed) A A T T WU g :
(A) 3l 1y 1302
(©) 19013 (D) 2930T3
(1) arqula wadt

r

41

A DOQle Pig

to the extent of privilege leave dye gy

Terminal leaves .
admissibles may be gmmcd to the following Goy,

servant on the termination.
s of Govt. who will continue 1o

A A]FI‘C"“CL‘
A\ gtlvcﬂ““l by normal rules applicable to them,
M) Govt. servant has been dismissed from serviy,

(C) \Wherens {he services of Govt. servant have beg,
terminated under penalty.

(D) Ifperson cmplu}'cd for n period of exceeding one
yenr on contruct basis in terms of R.C.S. Rules,

(B) Question not attempted

prafiRm ¥ A mm&uahuémﬁﬁ:hmﬁmmw
w ﬂ\mmmrﬂwiumuﬁmmﬁh’mm“

Mamarmfmmmmt?
(N mﬁtnﬂ@.aﬂmmmmrﬁmmﬂmﬁm
) mmmmammmammm
(©) mwmmmmmmuﬁm

et e A T W

(D) uf&uﬂﬁmﬁaam&ﬂ.q«.ﬁaﬁi&smaﬁduam
ol A oiftrs oy arafiy 6 frg Prafor 1

(B) orgafa u

Method adopted to reduce inflation in the economy is

LLLELLLY

I Cut in govemment expenditure

2, Incrense in government expenditure
3, Central Bank issues more currency
4, Finance minister reduces Tax rate

Choose the most appropriate answer from the options
given below:

(A) 4 only (B) 1only
(C) 2only (D) 3 only
() Question not attempted

anifaeran 3 sy @ w we @ R
1 e w Y

44

45

2, vl @ ¥ gi

3. @ & o ailtes g ) &
A, T o T W) W e e
o P e Pt ) ) gt e A
(A) et 4 (B) drerw |

(C) e 2 (D) ¥t 3

(1) drpai ua
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Arrange thp process of demonetisation in sequence :-
1. New initiative to demonclize,

2. New currcnc?—liflcs T 500 and T 2000 launched.

3. People were gllowed to deposi
T 1000 notes, o deposit old T 500 and

4. Menacce of Blatk money and circulation of fake
currency. ' ¢

5. 500 and X 1040 are no legal tenders. ¢

%‘;ﬁf the corrc%t:";mswcr from the options given
N

A N B
-1-5-2- i (D) 1-3-2-
(E) Question notgt\l‘cmpléd) i
AT & 9 BT 999 HE
1. fagen & & 6 b v 2
2. T.500T4T X 2000125 71§ 71 & el B 9rew T
3. W W g TIS00 4T T 1000 & A @ T
HTAT B WHRIE T | '
4. FTA O AU THH AT &6 WA B GHE 1
5. T 500 aT X 1000 % 1 erde ~

< fig 7T e ;& W T o T g -
(A) 3-2-54-1 o (B) 5-2-1-4-3

(C) 4-1-5-2-3 (D) 1-3-2-5-4

(E) BEE] '

Which of the follogjﬁhg is correct for non-current assets?
(A) Cashand cash@quivalents.

(B) Not involvediii entity’s operating cycle.

(C) Realised or settjed within 12 months.

(D) Held primarily.Jor trading.

(E) Question not 2 empted

—aTe], %éﬁﬂﬁzﬁﬁ-mwaﬁ‘%'{

(A) THE (Tpe) iR Tt (Tehe) oged Bl ¢
(B) T% 3T % WEN§T O 3 g 7 e ¥
(C) a@nﬁamgwmnﬁlzmammﬁé’t%l

(D) gmm&'whﬁ'cﬁl

(E) mgaﬁauﬂo

Match List I with/Cibt IL.

List I (Alternative’) List I (State)
Marketing

a. Apni Mandi O I.© Maharashtra

b. Hadaspar Mahdl ~ .11. Tamil ul:ladu
 Rewbewr O
d. Uzhavar Sand]tqim A g

I

qd 1% ana gd il &1 R Fifg |
T 1 (e AT, @ 1 (=)
a, g qUEl p I HEU%
b. TEETT A "i m
; A 1l
R B
Choose the corrédeDanswer from the options given
%e_t]&o;:q g fhﬁcﬁo I @1 auA S

A) a-l, b-1V, c-I|z¢-11! (B) a-lll, b-1V, c-l, d-11
&:} a IV, bol, coiiT, g1t (D) a-lll, bl eIV, &1
(E) Question not attempted / u

of In
46 The I’InnningCupnnlssinn
« following objective:

47

(D)

(E) Quest
FrefoRaa

GET IT ON
Google Play

ent
I 'To cstablish stable b"vf r:,‘:;tmcnls-
2, ‘To distorage OrCIEC oy,
3, Tonclficve full cm_l"""y f incom
4. Toredilty i'wﬂ"""“‘.’stg answer fro"
Choose the gpgst approprid I
given hclo\x' ' ) | and 2 O"Iy
(A) 1 and ?nly ( 2and 3 only
(C) 3 and A-dnly . mpufcll)) a
3 ibninot atte

%%'3"%“ o ) e 60 o

a7
1.

(B) e 1 9T 2
(D) e 2 33
-

Which one,of the following statements is_u:ue?
(A) A gov‘c" nment servant shall earn privilege leave
* at the ralc of 2% days for each completed month
of hisSrvice as RAC personal.
A goveipment servant may, surrender privilege
leave,not exceeding 20 days, in a block of two
years for encashment.
A government servant on compulsory retire
shall 62baid cash equivalent to leat\?:: salar;fn :"ol:
pcrivli‘lng leave at his/her credit,
ash payment for un-utilised privi
be calculated as cash paymenlt:=‘£l(lsg e;t('.iav.e s!la“
onretitement + deamess allowance)lzyo) xmmlble
of unutifised privilege leave at credit Tumber
subje%o 300 days, Onretirement .
1011 not attempted
W BA-T1 HUT TQE?
(A) &% ATl RAC ETBR"I"m
Wﬁﬁmwmiﬁz%hﬁ“:mﬁ ey
gd afsth @t Ry
(B) T T wofardy <) o 3

aﬁhquqﬁnﬁﬁm %%ggm%ﬁ
N

(B)

©)

GETIR

(©) ST d-Prafy e

e g8 ¥ e
X T s R
T s o
(F) argafa wgw t Qﬁﬁ

Scanned with CamScanner
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Procedure of lnnd ncquisition for which, Inhd
acquisition collectors or other civil officer, not specially
employed for land acquisition fs -

I, Prepare o statement in Form A or B or in Both.
Ascertaln that an award has been made by the civil

courl,

3. Tuke a receipt in Fopm *C* from cach person (0
whom payment {s to be made,

4. Forward a copy of Form ‘A’ or ‘B’ to the
Accountant General,

s, The Treasury Officer makes the payment on
authority of the collector,

Choose the most appropriate answer from the options

given below : -

(l\) 2- ‘o"l 5l3 (n) ||2-4| 315

(C) 2. l."u 3--5 (D) 114020 3-5

(E) Question not attempted

A yftr nfrsrer weR dtudl Paferer ey < fafire

w9} qih-eﬁhm'&:mqhgﬁﬂﬂﬁﬁmm!%.*

fra vifr aiftrreor 2 e & -

1. wif @ o 4 arera @t ¥ Reror Y B

2 wgﬁﬁmﬁ%hﬁummmm

-

T ¥

3. ﬁﬂﬁtﬂﬂﬂrgﬂmzﬁmﬁ&mﬁmmﬁﬂ
A @ A e A

4. @i T U 'd)'m‘ﬁthmmﬁaﬁahﬁ
Gl S

5. kawmmﬂwmﬁ

ﬂé&qmﬁm@ﬁﬁvﬂmmmaﬁfm:

(A) 2,1,4,5,3 @) 1,2,4,3,5

©) 2.1,4,3,5 ) 1,4,2,3,5

(E) Srgafia 9l

Balancing of Account refersto:
(A) Diflerence between total of debit and credit

(13) Total of credit side
(C) Total of credit and debit side

(D) Total of debit side
(E) Question not attempted

-t (3@t A anard ¥
(A) Wil =i ud S ol 3 g okt
(13) o e @ g

(C) vt 17 A ue g ul

(D) AT ue i g

(k) argafta ue

-

1
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List !

A podle F

dentify the correct sequence OF STEps iMTHE Procey,

Accounting.

1, Analysing L
2, Recording, Classifying and Summarising

3, Identifying cconomic events
4, Mcasuring

S Communicating
Choose the correct ans

below: ;
(A) 4,51,2,3 (B) 1,2,3,4,
©) 2,3,4,51 (D) 3,4,2,1,
(E) Question not attempted
Sl 3 9 T A it % 7 5
Fat?

1, Ragdon & .
5. i, igd BN d HATETT
3, ot wTwAl #1 qzar &N

4, WO
5, TG
%ﬁqﬂqmﬁfﬁﬁwﬁmmma’ﬁm

(A) 4,51,2,3 (B) 1,2,3,4,5
©) 2,3,4,51 (D) 3,4,2,1,5

(E) rgana 9ed

Match List I with List II.
List I
I. Ensures that public funds

are not misused.
11 Highlights the weak
_~” areasinthe organization.
[Il. Undertaken under the law
governing the organization-
IV. Verifies accuracy of cost
records and serves as cost

qd\lasmuqahllmﬁcr;;maéiml
ol i

o, wifafe war L. :
e e wA (Ff) 1 geTEr |
' : . i P @ &1 '
b, T e L ﬁm%zsqa\'téﬁm‘r 3
gl ST &l ¢
c. arare e L hﬁﬁ:mﬂm%m
qliem oniftret fan e &1 .
J, womea V. ST WG ) Y B
e e & & ST A
F-nmismﬁmimtl

correct answer from the options giver
below:

M qumz[hmt‘muﬂmmmuhm=
(A) nlV, bel, el det (1) ally b-l11, eIV, d-
(C) welll, bel, cll, d-1V (D) a-l, b1, c-11l, d-1v

(1) Question not attempted / SraTcd W
[ PT.O.

wer from the options giy,.

a. Statutory
Audit

b. Government
Audit

c. Intermal
Audit~

d. Cost Audit

A

g
!
&

Choose the
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Income eamned but not received is shown in the
side of the Financial Statement.

(A) Credit side of Profit and Loss appropriation
account :

(B) Liability side of Balance Sheet

(C) Assetside of Balance Sheet

(D) Debit side of Profit and Loss Account
(E) Question not attempted

aifvfa g e ama @t frefrg Rraow & ¥
garfar A #1

(A) @™ TE w1 fafrom @ & s g

(B) TEA-UF & 3Tar yg

(C) Ta-uA & ufEufy ey

(D) W™ T T @ & A ver

(E) =i wee

What is the primary unit of appropriation for the
purpose of the demands for grants of the Government?
(A) Budget Head (B) Major Head

(C) Minor Head (D) Detailed Head

(E) Question not attempted

T SIS @ =i 3 v & fafrive o mafe
THTS T BEAl & 7

(A) Tz 9ind | Ture ¥

(B) TeA ofid / Aei &%

(C) wg sfd / wrEC 3%

(D) frega ofd | ¥ ¥

(E) orgafid 9ed
Match List I with List IL.
List I List II -
a. Errors of I. Credit sale of goods to Ra
principle not entered in sales Book
b. Errors of II. The net effect of these
omission errors on the debits and
. credits of account is nil.
c. Errors of 111. Incorrect classification
commission of receipts or expenditure
: between ca;_)ital and revenue
d. Compensating IV. Wrong casting of
errors subsidiary books
Tl 1 % wr g 11 @1 frar Bl
1 el
a fuziqad 1. T @ & aggeil &
gfeat surt faa, fa-ady
- gfafe 16 @ T
b, @ (e) g 1\, . A qd S WR F F
= - @_g‘m aﬁa%‘; .ﬂ
c. HIo-Ffeal 1\ gl gd T & N @
el it @1 TTerd aiig

o, g gfeal V. woras Afbal & e dn

. (] r
Choose the correct answer from the options given

below : y

M R g Rraredi 7 @ W ST @ AU i
(A) a-IV, b-l, c-11, d-111 (B) a1, b=l c-11L, d-1V
(C) a-ll, b-il, c-1V, d-1 (D)_n-11l, b-1, c-1V, d-11

(E) Question not attempted / argalta ue

h
h
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Match List I with List IL

is
List1 List ! ¢ which monc¥
a
a. Openmarket | ‘[:ilhdrawrl nis
operation at whi ol 1 ank
rc
b. Repo rate I R:::n to e l:,f onds
g 1ing
; s¢ nt
. Buying 2" ey is 1°
fl- gcv;r5ct:<cpo :::' Rate at whi€ mone
. Bankra : Al
@lﬂsmufﬁﬁ"m@“ '
1l
el P 1 5
a. g AT dhedr | il e w1 168
b. YW i
a7 B AT
il a1 gl
c. R [i1. @i @ iﬁ -
d. & V. T a iven
Choose the correct answer from the options 8
below: -

ﬁﬁﬁqmﬁmﬁﬁﬂﬁmmmaﬁﬁq :
(A) aL, blIL, c-I1, d-IV (B) a-I1, b-I, eIV, d-II
(©) &I, b1V, -1, d-II (D) a-1V, b-I, c-IIl, q-l
(E) Question not attempted / ST 9§

Which of the follo;wing loss needs to be reported to the
Accountant General?

(A) Lossby misappropriation, and such loss has been
made good by the party responsible for jt,

(B) Cases, involving los i
| g losses not exceeding ¥ 2,000

(C) Refundsallowed on the
time-barred.

(D) Mistakes in assessment, dis¢

permit a supplementary clajm
(E) Question not attempted

Preafifar 3 2 R w1y 35 ary
W

ground that the claim were

overed tog Jata to

BT D AT § ?

ﬂﬁaﬁm
0 mq.ﬁmmwm
(B)Qﬂua‘:mmwam:-;nﬁﬁ%' e

whabmi gy o N O g
() ¥ U 0T 3y (o X ity
e ) m)'\"fgqﬁ‘%
(D) Wﬂr&ﬂha@qmatﬁ . A
Rrewar v ey, T 3

(E) rpai wgq
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Those who regularly move in and out of poverty are
called :

(A) Occasionally.poor

(B) Chronically, poor

(C) Churning

(D) Transient p?ﬂ

(E) Question nqt_-attemptcd

Prafra =9 & TS A/ SR g
HeaTar ¢ N

&) - i

(B) SIETIHINSG €Y ¥ T4
(©) TR ¥ |
(D) aﬁmmﬁam

(E) Sraitd wegh
-

are shdges which are not only entitled to a
fixed preferential‘dividend, but also to a share in the
surplus profit alang with equity shareholders.

(A) Non-Participating Preference Shares
(B) Cumulative Preference Shares

~ (C) Convertible 'refercncc Shares

(D) Participating Preference Shares

(E) Question nepimcmpted -
¥ frax @y 6 1 Hae wrdt R A

¥ fg afrga o ¥ afts s daar@l & |y

gy Afrsia e SraT ¥g o aiftga B €

(A) Tre—crafiredmi sifem ST

(B) wadl st AT Y4 q‘

(C) wiadra e 9T

(D) sraRTe AR 4T

(E) Frgaid u5Ty

- :
Additional pay granted to a Govt. scrvant.t(? save him
from a loss of spbstantive pay due to revision of pay
otherwise, than as a disciplinary measure is knownas:
(A) Personal Pa)?l (B) Presumptive Pay
(C) Substantive Pay (D) Special Pay
(E) Question o} attempted o
AR Safd i w9 3 o de % g0 &
HTT T A 5 e @ fd warly e @ aue
¥4 W orea AT e g e & o o d -

(A) aﬁma%{a% (B) wenfaqd AT
(C) Uz AT\ (D) fady AT

(E) Srgaia 9e

60
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Subsistence Grant are made to govemnment employ,,

who arc - O -
(A) pcrfonning the dusﬂ:j of a post on which anothe,

person holds a licn.
(D) specially doing arQQ?us duties.
(C) not entitled to pay@h leave salary.
(D) suffering loss of dibstantive pay in respect of,
permanent post due*to revision of pay.

(E) Question not aucnﬁ;l'cd

mh'@nmmmﬂgﬁmﬂﬁﬁmmmt

it o6 - P

(A) M@w%mﬂﬁmmdtm
T Y = R (Eom I T E

(B) ﬁﬂmmﬂ(mmgﬂmwm (e78) Aari
Rackd
o
(©) aaqaﬂtgﬁ-mﬁ%m?ﬁﬂﬁfl
(D) Fa-grdeT & o Wil U% & Hed F W
e @ Tl 9oT WoRid ¢ |
(E) orgafed wed g
™
The rectification for undérrasting of sales book by X 100

is corrected by which ofthe following adjustments when
the difference is placed;in ‘PuspcnscA/c?

1. SalesA/cDr 100 €\ 2. SalesA/cCr100
3. Suspense A/c Cr 100 4. Suspense A/c Dr 100
Choose the most apprdpriate answer from the options

. given below : N =’

(A) 2and4 only (9) (B) 1and 2 only
(C) 2and 3 only (D) 3 and 4 only
(E) Question not attempted

et @) % T 100 Y R @1 FH e Rew T E
T & 39 ot & sagm ¥ whafe st av, P §
T}, ReE WO BT 59 W aTee &1 deia fe
QT ? O

L I’anﬁmaﬁloog 2. et @ 0 100
3. oda aran w1000 4, e wr@n A 100
ﬁﬁ&quﬁwﬂﬁ@mmmmaﬁm:
(A) Fam 2aftd O\ (B) ¥aw 1 et 2

© w23 N (D) ¥uw 3 ahea

(E) orqafa W
|
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A service book shall be maintained f,

Gowt. servant, except -

(A) Policeman of the rank not hj
constable

(B) Gowt.servant appointed on t R
fixed period tmporary basis fora

(C) Class-IV servants

(D) Govt. servants from All India Servi
(E) Question not attempted e

%l BE% Y% 9@
(A) TE S ¥ Hiaw ¥ ey Y
(B) Mthamqr@ﬁrﬁaaamﬁz%m?;;;

EGari
(©) 1V 3 seferd
(D) St W dar & Wl wdard
(E) Srgaid usd

Which of the following statement is NOT true?

(A) The _government servant transferred to foreign
services may get promotion in foreign services
department.

(B) No government servant may be transferred to
foreign services against his will.

(C) A Govt. servant may be transferred to foreign
service while on leave. Y

(D) The transfer of a temporary Govt. servant to
foreign services is permissible. -

(E) Question not attempted

frefiaa & § SF-T AT AT & 7

(A) frer Fanaii ¥ il T 496 Bl R
Rezer & fors & & w81~

(B) foreht ot wreaTl Y 1 et g1 & ferow fekar
Farail # wAATAId Aol foar o wharl S

© mmmaﬁ@%ﬁwﬁﬁ%ﬂﬁm%
o TR foan o w81 VT

(D) e sred T daw & faal daail & forg

T e
(E) ergafa wed

Which of the following qualitative character of
accounting information is reflected, when information

is interpreted by the receiver in the same sense as the

?
sender has sent? (B) Understandability

(A) Reliability :
(C) Relevance (D) Comparability

(E) Qu%tl:;n %o;;:iglptcd IS
%, ra e @ e 81 e g o and A 3@ S
™R ? -

(A) fagaesraar (B) AUl
(C) et (seifiraea) (D) FerweTadt

(B) argafa wed

reach and every

gher than that of | lead

r
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u‘“"

ut cot

grue 80 ¢
.cd col‘ |
ver gic?

me

Which of the following is NO

leave?

(A) Commuted lcay
of study may
certificate. )

(B) Commuted leave durin
be more than 240 days:

(C) Commuted leave may £
private affairs.

(D) Twice the amount of ¢ f“.
debited against the half pa}

(E) Question not a!lcmPtcd _

oo ) & o Pt A

o mﬁawammﬁ“ﬂ““@

(A) ggmm:m%;mﬁrﬁﬁﬁmﬁqgﬂ

(B) @ﬁmﬁuﬂmgﬁzmﬁﬂﬂm
&l &l

© mmmaaﬁwhmasmqﬂmgﬁﬁ
W wEal el

@) Waﬁﬂémgﬁaﬁmgﬁm@ﬁgﬁ
¥ gl S

pro
- pran PP
© unhsc;-‘o ?c q witho¥
be apP

g the enti

|
.y
vic
it 5
feet fof

(B) erguia v

is the Apex body accelerating industrial
development in Rajasthan.

(A) CMIE (B) MSME

(©) RICO (D) RAA

(E) Question not attempted

TR & Sy fresrg @) iy we

frama (] T e ey
(A) Hha.ang ®)

© MAEDR,  (p) e T

() orefa e %

Who chairs t}

mdigy e Goods ang Services Ty,

(A) State Finance Minister by R
Y Ro

(B) Finance Minister tation
(C) Govemor of R

esery 2
(D) Tax Commissione, ¢ Bank OfIndjy

(E) Qucstion not attery
T
AL . E\“’Tﬂl%?
(©) ey fard & | |
(D) Ty %“ﬂ‘ﬁ‘h
(E) Qﬁﬂﬁam’f
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1foverdmil as per the pass book is taken as the starting
point, the cheque issued, but not presented, is to be
ifr the Bank Reconciliation statement.

(A) lgm{t?‘d (B3) Deducted

©) r\dt\cﬁ (D) Credited

(E) Quegstipn not attempted

Ul ur-7e ¥ SrgT e T W afag far
§, W Poilrd N, o ypram % Rrg weg ) gon, @
A Tt R |

(A) WGLLSN {wn e &
(B) wers ¥

(C) Mgt Gt ¥
(D) o ﬁ‘ﬁr i

(B) rgaig we
N

Which of{ihe following is not included in general
principle to be observed by subordinate authorities
cmpowered to enter into contracts of agreements
in\'nl\'inglcx,;pendimrc from public funds?

(A) Contract for purchases involving import from

nbm}:zl: shall provide for purchases on F.O.B.

basis, .

The terms of a contract must be precise and
L

defin u&.

\\'httwill pay taxes and duties should be cleared

before entering into any contract.

Copies of all contracts for purchase ofand above

the Falue of T 50,000 shall be sent to the
)

Accountant General,

(E) Que ‘E?)n not attempted

s it & B A @ A i % ogHy

& W e HCLAY, AR AT At Wit & T

et et ar R &, fr 3 A, wan anfre

TR

(A) Prdai3y oma & afa wal & Rg argdw ¥
uw. AL & JTUTT T Wl 1 WrauT fean s
it

®) R ol we oirt P B ik

(€) M@d&mm’imﬁﬁwﬁmmﬂmmm
fo et o IR T TR BT W

(D) T 50000 sl ot it vpea ¥ v B frg wh
ifrzroi o uftrat (srerderaTe) wh ol o wiity)

() orufia we

(B)
©

(D)

@

!
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Match List 1 with List 11,

List 1 List 11
a. Substantive 1. Thayto Which Gg, <
Pay servaht would be tnlix} .
he Ki81d the post Sub;‘a:d. it
b. Special Pay ) 11 ToSve Gowt. servay, ey
a 16s3 of substantiye Pay,

1L ThEPay by reason oth:'
substhntive position in "
th¥ddre,

1V. Addition to the

J emoliments granted i

consideration of the Speciy

ardudils nature of the dmi;-;

qmlﬂsmu@nmﬁaﬁ'ﬁm;
@l wh“ O
o EEEd@ L w%

c. Personal Pay

d. Presumptive
Pay

i a% e T k)

1L WL NS B (7
o i & 7 ¥g

. bR A 1. HSTW Sud T 9 fufy
¥ Lo A &

&, vof a1V, R w A e @
AR Wl & T e |
ol & s

Choose the correct answer from the options ghl

below :

<2 P g el & Ty B
(A) a1, bV, c1l, d-lll (B) a-l, be1, c-1V, &1l
(C) a-lll, b1, c-1V, d-1 (D) a-lll, b-1V, c-11, ¢4
(E) Question not attemptedy Gl':ﬁﬁ“ w

-
As per the Rajasthan Ecdidmic Survey ('-'033'2}'L
sector contributes to.the highest grov®
(A) Service Sector
(B) Agricultural Sector ©
(C) Animal Husbandry Séctbr
(D) Industrial Sector
(E) Question not attemptéd?

TR anflrs wfaror 2022:23 % Gﬁ‘mmﬁ

b. fadw A

W 5w &= i Qv @ ¥
(A) Yt ()
(C) uyuTEr &= (D) ohafirs &

(B) argafa west
a0
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Preparation by th itori i
i \\[',hich ot éyr? € Auditor involves the following steps

1. Information about clients staff,

*2.  Agreement with/client to ascertain the scope of

Audit.

3. :(:;?:#':dge 0 cllent's business and accounting
4.  Ascertain techfii¢al details,

3. Instruction to and Information from the client.
Choose the most ap _g‘?priate answer from the options

SEERY
3, 1,4,5 (B) 1,2,3,4,5
N (D) 3!4l59 1!2

8 2,3,4,51
H Prr=feias awor fg

(%.Lﬁ:stion not a'ﬁ'e'mpted
=TI T i dard
w9 ¥ TR B & 7

gﬁ

Which of the follovtin’g is NOT true about maternity

leave? ) o

(A) Matemnity leavemay be granted to a female Govt.
servant in case,af miscarriage.

(B) Matemity leave’is also admissible to temporary
female Govt. séfvants.

(C) Female Govt. servant may be granted maternity

-

leave on third Ee;gnancy if there is no surviving
child. .

(D) Matemity leavé'shall be recorded in service book
and debited to Jeave account. -

(E) Question m?é7 attémpted

frafafiaq ar-mr s el T8 & 7
(A) vH-gE fedaft wear wften d9% @t miw
) T e e
(B) - o

C) e aften wTHH da@ o AEd T wgh-gd
ik it R b AL B

d -
D) wafa-gd @ g Y ¥ aiftrefaa fmar sem
®) 3R uﬁﬁzﬁmﬁmmtl
(E) LER] ’

Which of the following is not the duty of the Revenue
or Administrativeuﬁi) partment in terms of dues of
Government? o —
(gz Correctly accaunted
ic

Correctlyassessed
Promptly collij&d

D) Kept in safe cudtody

E) Question not attempted ' R
WER & & R & fre % @ 7
TR S ¥ Ry w1 et T & 7
(A) o a8 & A fara wman T ¥

B w8 P mar ¥
gc; o A S e R T b

D) T% e & TET TaLE | .
EE)) 1 EL *"‘"EL
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, haring
In case of adjustments for change I me::lst
among the partners, Goodwill existing
tobe:

(A) Written off in-equal ratio

(B) Written offin old ratio i
(C) Adjusted in gaining/sacrificing @
(D) Written off in nlew ratio

(E) Questionnofattempted
mﬁaﬁ%mmﬁmmﬁm 2
2 fafyr §, 78 AShefaa () gL

(A) 9 S A foen e B

Identify the cOmgstatemcms about supernumerary

posts. _ .

1. A Supemumen%}' post is created to increase the
staff to meet extra workload.

2. A Supemumerary post is a shadow post and no
duties are attagh;:d to such a post.

& & Supernumer’a)ry post is normally created to
accommodate the lien of an officer.

4. It is personal {,E?, the officer for whom it is created
and no other offiter can be appointed against such
a post.

5. Itisatemporary.post created fora definite and fixed
period. (] _

Choose the most apgropriate answer from the options

given below : :

W2 3mddons @ 2043 only

(C) 1,2and 3 onl (D) 3’45nd50nly

(E) Question nofattempted

aiftrfn (e w3 a4 il g '

=¥ P! ! A Trar

1. st Hﬂﬂ'ﬁ’ﬁﬂ%wmq&%
Q& &1 WA fopgy o ¥ fma"%'ihﬂ

2. aifafiaa o7 O wepr
ek By mm@“‘mﬂf

h)

5. % U fifyes-

(E) oSraf we

>
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Match List 1 with List 11,

(ll‘ms:n lards on Internal L
; ndards on Interna A , )
Audit (S1A)1 v Eenoniog
b. Standards on Internal 11, Internal Control
Audit (SIAM Evaluation
¢. Standards on Internal 1L Planning an
Audit (S1A)9 Internal Audit
d. im:]\.da(réils AO)I; 'l’nlerlml IV, Communication
udit (S . with management
g}t%muq&nnﬂﬂmmaﬂmn :
1 T '
o, faf® srar wian L P
) W (S1A)
b, saf@ dmrader 1. amis Prisw
A 7D (SIA)M P QIGT
c. A& d@madlen 11 R dwen gden
el 7S (S1A)9 %! TS g
d. aiafe wwradlen IV, weue & T Eiee
Fatht 7T (SIA)12

Choose the correctanswer fromthe options given below:

A fXu g fermeal F & Wi IO @ v S
(A) a1V, b-l, c-11, d-1I1 (B) a-l, b-11, e-11I, d-1V
(C) a-ll, b-1ll, c-1V, d-1 (D) a-III, b-I, c-1V, d-II
(E) Question not attempted / REE]

\

Identify consumer responsibilities from the following:

1. Buy only standardised product

2. Assert (yourself) to get fair deal

3. Insist on cash Memo/Bill

4. File complaint in any forum _
Choose the most appropriate answer from the options
given below : ’

(A) 1,2and4 only (B) 1,2 and3 only

(C) 2,3and4 only (:i)) 1 and 4 only

(E) Question not attempte .

3 IO STl B HE WA ¢

I, Fae AP TATE S G

2. oftra (Proaer) |t &3 9T W B 5§ AT TG

3. a1 ¥ faw 23 % frg @@ &

4. PR o wa (wrem) A R aiftew w4

1 e Rreeal & § 9 SUGRT ST HT A BIAT:

(A) ¥aw 1,204 (B) Faw 1, 280T3
(©) Fam2, 394 (D) Faw 1alT4
(E) orgafd wed

Hawa Mahal in Jaipur was built by
(A) Maharana Kumbha

(B) Maharaja Pratap Singh

(C) Raja Surajmal Singh

(D) Sawai Jai Singh

(E) Question not attempted
TR Ruq warEw 3 BT i HTT T an
(A) weTam g (B) wETTrE war fiie

(C) wen grwmw fiig (D) waTE Jaiiv

(E) rgafwaw '
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ect accounting equation is:-
1}\'; ‘i(,)il;lrbilitics = Capital + A'Es..s.ets
(B) Capital = Asscls + .LIEl.b.l l.mcs
(C) Profit= Assets — Liabilitics
(D) Assels ™ Equity + Liabilities
(E) Question not attempted

Pt r{ﬁﬁ@fﬂmiﬁﬁm%?

Arrange the steps involved in usage of Bill of excy,

in proper sequence.
. ’ Apcceplancc of Bill of exchange ¢

2. Endorsement of Bill of exchanges

3. Drawing of Bill of exchange 4

4, Presentation on due date of Bill of exchange
5. Settlement/Payment of Bill of exchange
Choose the correct answer from the options gi
below :

(A) 4,5,1,2,3 (B) 1,2,3,4,5

© 2,3,4,1,5 (D) 3,1,2,4,5

(E) Question not attempted .
fafrra—u= & Sqd  nfe wxoil & wé o
1. fafrra—g= o weda

fafra—u= &1 yeieT (Tehme)
fafa-a= &1 s/ E

fafra—gsr @t Jafif 9T wga s
fafma-a=t &1 Prameoapam

e g g et & & it oo @ 99 A
(A) 4,5,1,2,3 (B) 1,2,3,4,5

(C) 2,3,4,1,5 (D) 3,1,2,4,5

(E) orgafta uew

Match List I with List II.

List'l. List IT .
a. Primary sector I.  No profit motivé
b. Secondarysector II. Forestry

c. Tertiary sector

IIl. Computerusstmb'-"
d. NGO sector

IV. Travel agent

T 13 W el 11 o1 e FfTal

™1 @

a. Wi &= L R yer B E S
&

N SN A

c. gd® & 1. e T
d, ﬁr—mr&:‘!a\ﬁm A gAe (A
Choose the correct answer from the optio™ *

below:
M8 oy e Pt @ e o T Ay
(A) a1V, bell, c-1L, a1 (B) a1, b1 &1 g
(C) a1, b1y, clV,d-1, (D) a-lIl, b-lv:;{ ¢l

: 7

(E) Question not attemnted /
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Which of these is an autonomous body under.
Rajasthan?

(A) The Rajasthan Sthall Industries Corporation,
Jaipur

(B) The Rajasthan I'-“?g.}mcinl 'Corpnmlinn. Jaipur

(C) The Rajasthan S?:'n‘c Hotels Corporation, Jaipur

(D) The Board of Sercgndmy Education, Ajmer

(E) Question not l\ll({‘.lwllcd

;rmﬁﬁﬁﬁﬂmﬁ@mﬁmmhmﬁam
?

(A) TTUT Y Sug from, srage

(B) e ferdva iy, srae

1y

(C) TRUM Ty ﬁ'{gﬁﬁm YT
(D) weatia fren 91;

(E) ygafaum O
(N

A Govt. servant got g?i]&oinnncnt on a gazetted post
after undergoing training for a period of 15 months.
He resigns from the post one year after the completion
of training. He has tq refund :

1. One year salarypaid excluding the travelling
allowance. (¥ .

Emoluments paicﬂg him during his training.
Expenses incurred by the Govt. on his training.
Travelling and daily allowances paid during the
training. N

Choose the most appropriate answer from the options
given below : o
(A) 2and 4 3 (B) land2 .

(C) 2and3 &, (0) 3andd

(E) Question not attmptcd
P-sehmr&ﬁaaaa?gsmmwﬁquﬁarﬁ&a
T T g TRt el e s ol e
%maﬁmwﬁmﬁéﬁm%mﬁm‘ﬁﬁfwm
I W & BT O o o1 wew 4

2. e ¥ RS wea aaret A

3. g gl G Era SE v PR T )

2w N

4. wiirEw & ﬁ;«awahr&hmﬂml :
A fg e Pl 3 AT SUgeR SAT gl
(A) 23ka - & (®) 132

© 233 N (D) 30iR4

(E) arafed w9
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. o(ha?
of R‘Uns‘h ¢
The accounts audited by a retired memb;lt’,y the t:mm-‘:g
Accounts services, on the panc! ﬂPProvt;c S:lﬂcﬂonI
department, shall be iccepte
Authority, if : . amo
(A) The reccipt of antfual grant is VPt the
T 50 lacs. - _ jtutio™
(B) Grant-in-Aidis gifer to public® ount 0
(C) Thereceipt of Anfiudl grant is UP
T 10 lacs. \ )
(D) Thereceipt of Aniiual grant is upt
T 5 lacs.

(E) Question not atteripted G
< Y T T e S,

unt of

ody or inSt
to the am

(A) T B e e gt 50 T T A

(B) FoTT-rgar R s P S e

. %\ fmn W §

©) uﬁmﬁ%am@ﬁfﬁmlowwaﬁ
i Tk & Tl ¥y

(D) af ST € T 4Rt STRT+ S WIE S T bl
TR e g V)

o
E) STaita ue
© : o

‘Rule 144A shgll not a@l{’to -

(A) Govt. servant of cooperative dcp&tmeht deputed
to registered co-operative institutions,

(B) Government sefvints sent on depufati
panchayat samitiés) y
(C) Government servants appointed by G
deputed to a supefeseded Municipay e

(D) Govt. servants of figlice d ' Council
ovt. of golice department
Bureau of Investigation. €ntto Centrg)

. (E) Question not attefnted

frram 144*—-“““1’@'@1111

O e 5, S
(D) mm@"ﬁ““m%m |
(E) i@ |
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The term ‘Past Case' under Financial powers meitse

(A) a case which has not been finalised until (he date
of delegation of financial power but expendlture
already incurred by an authority,

(B) a case which has been finalised until the date of
delegation of financial power.

(C) acase which has been finalised and occurred prior
to the date of delegation of financial power.

(D) acase which hasnot been finalised until the date
of delegation of financial power but occurred prior
to that date.

(E) Question not attempted

Prdra giftl & ed ‘O B’ (T ATTE) 9 E

URSH

(A) e e foraa Rl aiftrdl & Wt @t
qrive @ ok 78 gon B afeT gear 9 el
aftrerdr Zmn =g fear i ga B

(B) e s Rrae fada afrl % smEiee @
aria o fofa & @ En

(C) T wren Pora Pt 2 g € qun < i
sl 3 weardar @ e & gd gen

(D) Trar wren fora fasdia qiftrrl & W @l
artve @ Pt 781 gan 7 Afke o aria ¥ gd
afea go wl -

(E) @i 9

“Weakness letter” is concerned with evaluation of:
(A) Intemal Check

(B) Internal Audit

(C) External Audit

(D) Internal Control

(E) Question not attempted

4 v e 7 @ fowds i @ i & 7
(A) o Tam (o)

(B) wmafva wan gl

(C) amex wen gliaor

(D) arreifees frdam

(E) ¥rgafaum

89

920

A podale Pla

for anutilised privilege leaye
[udes credlling - t
sulary In respec op,

The pnymcnl

retirements inc
[, Cosh equivalent to leave
. i

perfod of unu
300 dnys.
2, Cash cquiv
denrness 0
retlrement.

3, Cush equival
compensatory allowance payable on leave sl

4. Cash equivalent 10 leave salary Including jlo,
Rent Allowance puynhlc in salary.
Choose the most ap

glven below
(A) 2 and 4 only (B) 1 only
(C) 2and3 only (D) 1 and 2 only

() Question not attempted
daifrghn % W STYRI fagvenflaTe Ak AR e

N e &
I mmr’famgwfaa}mmgﬁahmﬁ

R5 300 it & aifres Y BV, & AT T
A B PEE | ,

2, g 2 arla & wgE T W g
By & T Tes TR

[lowance In force on the dape

(lised privilege leave not exeeyp r!

alent to leave salary Includipg f

ent to leave salary Including o

propriate answer from the optier

91

@ﬁwmmmmmwﬂm@
A & TG THG T
4,@&;@@3&3@%*@“
, Tl
A g g freeal § A wEQ I9gE ST BT
wiferg :
(A) %aw 2 afit4 (B) &aw |
(€) Faw 233 (D) &aw 1 T2
(E) orgarea W
Fiat Moncy
1. Gold coin 2. Currency Notes
3. Coin 4. Cheques

C.hoosc the most approprinte answer from the optiol
given below:

(A) Tanddonly . (B) land2only

(C) 2 and 3 only (D) 3 and 4 only

() Question not attempted

arfufye g (3

I ol % R 2, Wik e

3. Rk 4. UE :

e Ry o Roreml) 3 ) e Sy e B agA AT
(A) ¥ Lofea (B) w1 a2

(C) ¥um 29073

(D) ¥ 3 o4
(E) argaf we 5
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The Companies NOT required to appoint internal
Auditor, mandatorily are: ! o .

(A) Prival_c company having tunover of less than 100
crore in the preceding year.

(B) Every listed company.

(C) Unlisted Public company having paid up capital
of 50 crore or more in the preceding Financial
year.

(D) Unlisted Public company having turnover of more

than 200 crore or more during the preceding year,
(E) Question not attempted

o daPa R aiPrad w9, o -
3t Prafe &0t Y, amagaaa T8 B % - o

(A) TE Pl et Rt gl ad % 100 wis &
T %1 HEEW BT § 1

(B) W& HdEg S
(©) T Ar-yyeeres Wi droeht Rererds e ke
- T ad A 50 0 e oEd et v it
Bt &1
(D) T e Wit dre el et o
:é\m 200 F5 T1 FE 1T B FIE B
| "
(E) rgaia wga
Match List I with List 11, .
List 1 List 11
a. Threemonthsof 1. Two years bond is
study leave . tobe executed
b. Six months of I. Five years bond is
study leave to be executed P
c. One year of 11l. One year bond is
study leave to be exccuted
d. Two years of IV. Three years bond is
study leave to be exccuted
g1 1% W ga 11 & fram aifagl
Lcl|
a. T HIE @ iy ais (duy)
HaH fromme
b. T HIE & AAGA . Uig adig ais
I oo
¢. UFEd @ ? ug 94 &1 4te frorg
B ceot!
d. &1 ad & quEa V., 1 7y afE frog
aaad

Choose the correct answer from the options glven
below

i gy fawdi # @ w6 I @ A
(A) a-IV, bell, e-111, d-1* (B) a-l, belll, -1, d-1V

(C) a-lll, b-lV, c-l, d-1l (l)) ﬂ'”l, h'l, c-lV, d-ll
(E) Question not attempled / G\’{f{&d e
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‘Unique selling proposition’ rcfcfs to:.

(A) Use provocation in advertising

(B) Unusual product benefit

(C) Induce fear in customer's mind

(D) Use humour to attract consumer

(E) Question not attempted 27
‘Rafyre fify wrara foeny wiafifa BT € °
(A) Torsreet & e freom 1 ST H
(B) SOy Ierz @

(C) uTess & w1 & wg T~ HTT
(D) Mew Eita F &g T H

(E) rqafta we

Which of the following are true about Grant-in-Aid?

. The grantee shall execute a Bond before release
of grant to Quasi Govt. Institution.

2. Government aided bodies shall provide tWoO
sureties to the Goveror before release of grant.

3. Complete grant sanctioned shall be paid to
institution in one go.

4. The stamp duty payable on bond shall be borne
by the Govt.

5. The grant sanctioning authority shall see the
financial position of the grantee.

FaanT HTH

- Choose the most appropriate answer from the options

given below :

(A) 4and5 (B) 1and2
(C) 2and3 (D) 3and 5
(E) Question not attempted

'aazt?_m ﬂﬂﬁﬁﬁﬁfﬂaaﬁﬁaﬁwﬁm_
- . ¥y
maﬂﬂmﬁl Ha’s (Bond) (F9~m3) 7 fy oy

2. agem T P e )
P st AT
3. Vg B 90 ORI U a1 e Tieg)
T & aibg) = ﬁtﬁigm

(A) 43lts
(€) 2aht3
(B) Srpaita ugw
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The term ‘consumer’ under Consumer Protection Act

includes the following, except :

(A) Beneficiary of service availed with the approval
of concerned persoh.

(B)

Any person who buys goods for a consideration
(C) Use of goods wheh'such use is approved by the
Buyer. "
() Question not attempted
s e afufyan & orrla s A,
‘e (&
(A) taftra afie o qenfn & Suwe dar & A
Hail
mmm 3 B Tl S R |
(O B [ & UGN B Sty & T
TRl ¥ o :

under scheme of déferred payment.
(D) Any person who pbtains goods fo; resale.
Rrefritas & 3, Ry SRR, @it st 2 & 2
(1) STRUR T G & st Reeh st arT
| ;
(D) mmﬁmvﬁgﬁgﬁgmﬁaﬁmmtl

(E) LR
G
Match List I with List{l1{
List 1 («_List II
a. FIF i¥ Closing stock is valued

at earliest purchase.

(s"" ‘ b. LIFO “I1. Takes into account
oo £  quantity and price to
T2 calculate value.

b

losing stock is valued

c. Simple Avérage 'I'gl.
at the latest purchase.

method

d. Weighted V. Useful when Goods are
Average method €3 mixed up together.
@Smu@llm@ma&&m
1 . 1
a. % Mg OB SN kﬁﬂmﬁ‘fﬁmwm
(FIFO) * @lig ux Praren s #1
b, U &S U S 1. Ted bl I eg WA /
(LIFO) 7 W gd @md
c. U AT, eifam ©iw &1 e ST
fafy 6} w&zwﬁmmg
d. i@ olrgs OV 979 aggq TReT Il
faft &3 St 7 T wuart Bl § 1

Choose the correct gngwer from the options given
below:

E1pi ﬁqmmﬁﬁ}‘aﬁmmmaﬁfm=
(A) a1V, b1, -1, dfill (B) a-l, b-11, eIl d-1V
(C) a-11,'b-1l1, c-1V, d-I (D) a-Ull, b-], c-1V, d-11

E) Question not attgmpted / STTTI 947

Which year in India‘?‘s.')rcgurded as defining year 10
mark the demographi t+ansition from its first to second
decisive stage? '}

W H i waiie & wud @ i frofaes
mﬁd%uﬁﬁf&qﬁﬂﬁﬁ%ﬂuﬂaﬁﬁuim
% ®9 A e o & %
(A) 1901 18! (B) 981

(C) 1961 * ¢ (D) 1921

(E) Questio not attempted / TR UL
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is appli cdjwhcn the Amount of Insyry,
::!E? than the value of stock a"“ilal;

fi (@) .

on the date of fire.Z

(A) principle of ﬁ&tmatc clause

(B) Principle of finiost good faith

(C) Average clnus'é_)- .

(D) _Principle of Mitigation of loss

(E) Question not l&cmptcd ‘

af ot A Y i Af-HiE B fifige

mmﬁm%i%ﬁm%?ﬁ__ﬁziam

policy taken is les

A Govt. servant hc;;, remained willfully absent fro

duty. What action may be taken against him?

1. The period 1{ willful absence, amounts !
interruption inservice involving forfeiture of pa

- service. J ‘

2. The period &fwillful absence shall have tot
treated as adVdnce leave and debited from funz
leaves. o

3. Onsatisfacto ons being furnished, the peric
of willful absence shall be commuted into ext
ordinary leave.: 7

4, Theperiodo ~wllful absence not covered by gr
of leave shall have to be treated as dies-non.

Choose the most appropriate answer from the optior

givenbelow: = ]

(A) 1,3and4 on@ (B) 1only.

(C) 2and3only”} (D) 2,3and4 only

(E) Question nofﬁempled

@ GG HHaid s =g ¥ Qe § e

T & | sath Rreg i sriard) B o wad & ?

1. R argaRety 2 orafy, dar A arn & @

%, Rrad o Alah = (forfeiture) anfee ¥1

2. STHIRET oraRad Tk % araf B ot g
wY ¥ araga R s ofiT o@ widt giEl A
we1 R st

3. TFEERT STt T ot oraf &, Hgfe werw

HITUT WA , rraTareer g ¥ firm s
4, WMgTET Igitua e @ erafy, gR-sepd !
aetiea T B f orerd-faw & w9 § WA
W oy
(A) Fm® 1,330 e  (B) ¥aw |
. (C) ¥awm 23R 3 (D) Fam 2,3 a4
() orgufa wew |
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Fo
b
100 ldentityy ence of the stens &
i o sclol-:it‘::om‘ﬂ sequence ofthe steps inthe process | 103 *Forward puschases’ means:
: 1. Selection Test (A) Purchases made during the Year- o o veaf.
2. Employment Interview () Purchases made in the beginning scar- a
3. Medical Examination (C) Purchases made at the end ofth;f ture date at
3. Screening of application (D) Purchases to be made on o f4
f:.' I‘lac;'mcm and orientation ® l‘oﬂftlctcnnincd price. "
00s ~ . . . s i
; beln(\‘:ff 1¢ correet answer from the options given 'Gmmi;lctsrthmn:nrg ‘zg;?;%camm ¥
: E(}; ':’4-: :l (g) 1,2.3.4. 5 (A) T ¥ A ) wliz
- - -~ oy Uy - 4- LY :. :‘ - 1 -
. (E) Question not mlcmpu.sd i o {g) ::; g ey * i ‘T‘humﬂﬂ’T alZ
4 T -NRNTT S T e e e e S P & 2 T AT
‘, 1. 9Q§ qf‘:m 2. Mm e (D) T‘i f’ﬂl‘h‘i‘ tﬁ gt ‘"15‘
S Lk L R A A (€) Syt v \
L3 Pq““““ b @‘R_Tg_t%m 104 Which of the following statement is NOT et
A) - _:TE iiﬁﬁ‘il T AT ik (A) Stamps affixed to vouchers shall be Ci"!t s duly
i ©) 545 .I'l’ EB’; .l‘ ? .2 45 (B) A cheque bccome; a \'G(Jiuihtf :::}fcnd'l
3.4,§5,1,2 ,1.3.3 5 receipt and stamped *paid & cancefic® -
: (B) i@ wsH (C) An adjustment bill for *NIL' amount involves no
. payment. N
101 Match List 1 with List 11. (D) The acknowledgement (pre-receipt) shall be
] Listécs o List 11 ® gbmingd with claim bill.
] a ules Chapter-NI 1. M it uestion not attempted
T Section-ll T mtemity e : 3 2 1 o T T
b. RCS Rules Chapter-XI 1l Hospital leave (A) arsaT T i femel @ P & &1 el
?{cé:gon-l\’ (B) U U% 19 IET & WA & 9F S@a! qreal adr
& o - .
Secti&‘il\c’? Chapter-X1 111 Privilege leave i 'ﬁ_m ¥ u 79 uT * Bear T 3T
d. RCS Rules Chapter-XI 1V, Study leave Frer &t L & It &1
Section-V s (C) ‘3= Wi & forg wmter o o @18 e v
T 1S Wy g & fem St Bran ¥
™1 TR (D) =& & frmt & W ik T W <t =y ey
2. IRETE Prawrar 1wk s (E) orgaiia v :
:mﬁ‘m“ ’ |—.\'m1 . - 105 Form GA19 is to be used fi
orm 1s to be used for -
b. N , L (A) Revenueand expenditure with concerned
SETa-X1 "1V (B) Monthly liability stat mec treasury.
Prammat 1i1. Ragrfrre L A W
c. JAEITH (C) Register of expenses by the head of ag
Fea-Xl1 gra-Vi AR (D) Instances of financial irregularity; [Py,
4 amEiee PranTa " anOge aTaEst (E) Question not attempted )
Choose the correct answer from the options given (A) dafud ToaN & T e e =g |
below : N _ (B) wiftv® Zaan e ‘
3 fer wTq faeedl 8§ @ T8 IT H TG B : (C) W1 W@ &1 4 TRrey
A) a-lil, bell, c-, d-IV (B) a-l1l, b-1, c-I1, d-1V D) Rreiva SPrairaa 3 s
(©) AL BAL cIV,d1 (D) alll, b, -1V, &l iE)) AR e
(E) Question not attempted / srgaia wed
P . " 106  After the discovery of oi -
102 Which of the following I noll{ a ca;:lnl reserve? Rajasthan, the su:!)c h!l?w:n:‘:t:hml B35 in yyeqy
(A) Dividend Eq“""r‘srf‘-',lﬁﬂ i producer of crude oil after nomba\'il“‘ﬁ\ high
(B) Profit on_snlc ol 1 tion (A) Second (B) Fiﬁh 18h, est
(C) Profit Prior to Incorpo £ Asseis (C) Fourth (D) Thirg
(D) Profit on rt'\;a;:l:‘;?[:‘i:d - &‘[{g mgucslion noﬂl attempted
(E) Question not atte sl & 5 TEUT W e i ayy
Wf“mmﬁ RULE m.mmu@ﬂtmﬁ%h@‘%%
(A) wmigr qeaT Tt TS T R
| ) ) wm -'\._
(B) sraw wrrduid @ el oT (A) g (B) sy
©) ﬁ{q’ﬁ_m'tﬁ‘ 1 ™ — (©) ¥ (D) drergy :
(D) ufrREl & G (E) rgaf us »
(E) ;ﬁaﬂﬁ’d g3
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Which of the following is not an objective of vouching?

(A) Identifying documentary evidence in support of
transactions. s

(B) Examining accqunting entries in the books of
account with refg)c'ncc to documcntary cvidence.

- (C) Verifying the au{h@nticity of transactions. ~

(D) Evaluating thpdcquacy and reliability of
documentary cvﬁéncc

(E) Question not nuwtad
fr F S TR w SRy i 2 7
(A) -3 % v ¥ v | 7 wa T

(B) uﬁ@m%mg}maﬁﬁﬁﬁmm
BT GO ST

(C) Y (ﬂammgﬁrwﬁmnmmml
(D) nﬁ@waﬁqﬂhﬁl@ﬂrﬁmmwﬁm
(E) 3rgai W N

What is the correct sgquence of the steps involved in
writing of a case studg’

1. Drawing conclu$in
2. Description of tﬁassue

3. Identification otid&ta source

4. Collection of data.hnd Interviewing
5. Drafting the case

T (&) ¥ W & g o A
Tt & E SR &I z?

1. Prewd e (1)

2. HE @ A g

3. siwer-da @ G

4, ATHEI-GUT 3#((\ %“W

5. &a (Y&T) W%‘T‘"

Choose the correct @-n,swcr from the options given
below :

ﬁsﬁﬁqmﬁxﬁcﬁﬁuﬁmmmﬂfm
(A) 2,3,4,5,1 (B) 1,2,3,4,5
© 2,3,41,5 N O 32415
(E) Question not attempted / Srafa 99
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110

1

112

GET IT ON
Google Play

1

1ld be held as thaorder pj Mimg,
?I.wl The first Audnor‘sh.‘ﬁ ve nb elo -t;t

within 60 days from the da D °"l|e
2. Ifnot, Board of Difectors s|§ allg corgﬂ?nti
within next 30 days.
3. If not by Board. of‘ Directo
appoint an Au itor Wllhm 6
Orlc)lmary Ci(l:\nc(ﬂl_Mccu g. o
4, SubsequentAu are appoi
60 days from t 3[20'""&)12;::3"[ ™
year. of B
Choose the most nppropnalc answe,
iven below: “
A) land4only O (B) land20| ;
(C) 2and 3 only la""30nly !

E Elg'ucstlon not att :ﬁ{“ed a
1.

BT e
ﬁméeomﬁgﬁf 5 mﬁ‘,
2. aft e e & U (i
ﬁmﬁm—qﬁ%mh

s
3. afearé & STy % BT o w
mmﬁmﬂmﬂ#ﬁ

P
= qﬂ%ﬁmﬁﬁﬁﬁmﬁwr

4, g ad &
R aﬁﬁgfammtu I
A R o et & § 3@ S TWAET,
(A) Fad 13iR4 82 (B) hawt | 82 l

ben
Sof

r ﬁ'om‘h

(C) Fawm 233 (D) 133
(E) Srgaia wea aﬁg

From 1965 onwardsl‘\\yhat initiative the Goverz=
of India has taken to stabilize prices of major
grains and to supply of Food grains at subsidized™
to lower income gr. _B?

%A) Buffer dlscou:cé (B) Buffer flow "
C) Bufferstocks &2 (D) Marketable sup

(E) Questi t d
W@ Wm a?{%n%f &1 Tt TMg T@*g,i
P o i & e ( &) T
1 SR B b, Wi T ad 1965
zrcrm B! T ?,ﬁ —

A) gt ge (B)

©) ghmwsw N (D) o
(E) arqafta wew

Consumer Protectiofi Act %\%l;gg' enacted W
o ) @y 1986

(C) 1936 M Eg) :332

(E) Question not uﬂxpted/ ngﬁ ing"

Who Is known ns t hitect of India? PWM

A) Dad nbhm?\?nc':liﬂ - lg): anah v g,fobl‘
C) R.K.R.V.R (D) 7.CM g

E) Question not:(l‘ée\rlnpt ﬂﬂgﬁd 3l

) T A oy e

(C) am. %, o, <. v (D) . W
() orgeis we 10
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e R L S BT S

g e

Lt ot B

e e

IFRS has no role to play in -

(A) Facilitating global investment

(B) Avoiding manipulation in accounts
(C) Maximising profits

(D) Global harmonisation of accounting

(E) Question not attcmplcd
¥ R, el B i

IMETHIRTH B

& B ?

(A) s PRg A FH T A
(B) Tl (@@) ¥ R A ®
(C) TV & ity aam &
(D) wwie & AMNawwrdmr §
(E) suiausm O\

I\he term deputation covers only appointments made

(A) Permanent transfer (B) Final absorption

(C) Direct recruitmen({Z3 (D) Temporary basis
(E) Question not attempted

& ded FAR AR E 1
el aw%})_ Prgferai
(A) =R W
(B) W amie (Fi@" absorption)

(C) € W
(D) sreardt e O
®) sgerane O

Identify the mission started by NITI Aayog to promote
innovation and entreprenturship across the country.
(A) Atal Space Mission)

(B) Atal Adarsh Missjan

(C) Atal Incubation Mission

(D) Atal Innovation !\‘ﬂﬁsion

(E) Question not attempted

Fifa awar ¥ @qvl TEAIER Od suftan S g
%9 % g ue e ety fean an, Swa veam ¢
(A) arza srare ey

(B) @z eyl I

(C) Frzw SguaA e

(D) &=

(E) arard 967 g

An apex co-operative qrganization at the national level,
which deals with procyrement, distribution, export and
import of selected ag{x_:)ullural commodities in India
is:

(A) EEC (N (B) NABARD
(C) NCDC (] (D) NAFED
(E) Question not attempted
W  wafa g e (va) & i, frercr, Prafa
ud smara wadl wd @ w6 & fag vl W at
qaTa EE ) A AE W 7
A) ¥4 @) (B) 7maré
© wHE@ (0 (D) FyyHd
(E) ¥ui@ud O
~s

117
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ofit
. 'buled pr
When a company retains a part of undist™ " me o
in the form of free reserve and utilises
further expansion, it is known as -
(A) Capital reserve
(B) Public deposit
(C) Ploughing back omoﬁls
(D) Sccret reserve
(E) Question not atterfipted
T 2 e et et 3 9 S PO
5 T 2 e T A & o g
S ad ¥, i e & 7
(A) goft amtfra (B)
(C) M & ffde (D) T9
(E) sgmfmwm O
Q
Re-appropriation refersth - r
(A) transfer of one heqd-from one scheme 10 anothe
scheme. o ’
(B) rechecking and recanciliation of accounts -
(C) transfer of funds ‘Y%dm one account to anoth€
account . .
(D) transfer of funds ffo one unit of appropriation
to another unit
(E) Question not attempted
gAfdPre fred defug ¥ 2
(A) & 9T B, TH /A gErll g § wraenl
(B) ran (wwi) B go i aut e
(C) U v & gut wwEn § P (funds) @ wiiaor
() it 2 @ a7 & g T F B
BEAIAITL o

(€) ST

Which of the following is NOT included ; .

and responsibilities ofithe Head of an chlﬁl:e?e duties

(A) To grant budget t ious schemes i tixe

(B) Tosignasa Dm\w and Disbursip oﬁ_ofﬁce.

(C) To ensure cconurﬁlcnl Procureme lcer,
articles. \’ It of store

(D) Toensure ndjustma oftem

Ll

to Govt, servants! POy advances Bivey
(E) Question not attefipited ,
FHraferd WA & AR ahty
¥? g

(A) rafera & b= gisrnad 3 -
») mehﬁ&wﬂm&?mml
(©) e o g FNE gy ey,
HEN ‘ﬁgmaa
(D) TreaTll Ve W) STeuTdy o
WA w PR e %mnﬁ
(B) srmfmuet QN &
N
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2

What is a Personal Deposit (D) Ace \ A

M ocher, posit (D) Aceount it

(A} s operated by the department to separate the
TV NP annd pap ments to Gowt, servants,

(1) Anannountwhene personal advanee given to Govt,
st s depasitad,

(©) An account where imprest money drawn is
dopasitad for use, .

(b)) :-\l\ muRvEIIIent money received in treasury
i depasitad in DL account, )

() Qs et atrempiad

TRy R wiNm ﬁim (8) W k7

() TS v R xr wne wi & ol weerdl
;‘mﬁ B YTER W gUS S ¥ fve R W

l

(B) T wm s ') duw @ O i
SR TRy R s ¥

(©) T W Rred Pl e vl @
s k)

(D) TERNTR T W T FH -t ue i

= QA TR N T R
(B) STENE T8

Which ofthe following is not the objective of Auditing?

A) Detaction and prevention of frauds,

(B) Expression of Independent opinion on accounts.

(©) Communication of financial informations to
ranagment,

(D) Examine the Book of account and relevant
documants

() Question na amemptad i

TS © o0 SN0 1 SEs T 87

(A) SESTT T TE T GE R )
Ji=tle

(B) T (vw) §T e 59 (FOR) B §
(C) TR TS YOS E (W) S s
(D) T-T6 ST e Tl o wid sl

(E) ¥gSia sH

Seaps of the process of refund are - !

1. | DDO will submit its claim to respective treasury
with GRN and CIN.

Claim is submitad to the concerned department

~ wih CIN and GRN. - .

3. Depermmentwillcheckthe authenticity of receipts.

3 Tressemy will maintain record of refund.

S Treasurv will check the deposition of revenue
receipt. . i

Chovse tha cormact answer from the optioas given below:

(A) L2335 (B) 21,3354

() 2.3. 154 (D) 2.3. L4, 5

(E) Question not amempted .

TE-IeE (T0eE) B wisdl & 9 El

L. mqﬁm&maﬁm@m
e = &G, T LA . & E A

sl o ey Z -
s = wtrg P L. ST

-
TreamrmEmal

3. fawm orEas 3 EEimEdl B A B

T TEsw oA-TRE & sined (TTEE) W

s, TEST USRS R § 99§ 3 A S5m0

=% frg o fas=i § § §E TG0 E U B -

() L2345 (B) 2.1.3.5.4

€) 2.3.L.5.4 (D) 2.3, 14,5

d. @A AEd

124
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i
i Qt l ‘\.ith Iaist II- P

List1 I

Pl b Infivlisat T
a. Training acing the individual i |

different jobs at periodic |

interval to enable him to 4, |

knowledge of many jobs,
1. Involves development of ',
individual socially, |
intellectually and physic,
aiming at general developr,
Act ofincreasing the knowe:
and skill of an employee do;,
a particular job.
Has a substantial influence iz
changing the capacity of an 12
individual to perform better
and increasing the potential f;
future assignments.

q;hl%smu@llmfﬁaﬁaﬁﬁm
I

1 kSl
a. gmvr L Red safe @ o Sl o
~ v & S/ WEH g9 &g o,
et qX faft=t @i A
IL. ﬁﬁ&h’a:ﬁmésmﬁrm&s;
TR A T WINGD, AED
e R @ aftafaa
BT 8 : :
11, R Rifdre ot & e Rl |
FEO ST @ BT
g HT B B |
Iv. 3o Redh =i & ofit aret &
freqreT 2 g & gRiad i
T W Bl B A A I
HT B Y4 &HaT Sl &1

Choose the correct answer from the options give
below :

A R g el § § wét T & e S
(A) a-IV,b-l,c-11,d-1Il (B) a-II, b-I11, c-1V, d-I
(C) a-lIl, b1V, c-1I,d-1 (D) a-l, b-I1, c-I11, d-1V

(E) Question not attempted / AT W

b. Development

¢. Education 111.

d. Job Rotation V.

b. f@m

c. fimm

Collateral voucher is produced in support ¢
business transaction. '

(A) Credit Note (B) Subsidiary Voucher
(C) Original Voucher (D) Source Agreements
(E) Question not attempted

wariids amay t, A amite w3 ¢
e o wega fowan v &)

(A) ¥z e (B) WEw amET

(€) T AW (D) WA

(E) i 9ed :
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‘Capital structure® refers to combination/mixture of :
(A) Sources of owners fund only

(B) Long term fund and Short term fund

(C) Owners fund and Borrowed funds

(D) Source of Long term fund only

(E) Question not attempted

ot wan N Prafaftea N A R wgeay R o
s P emm gy ©

(A) Fa wrimiia-fR %

(B) Al Piftr wd ot fifu

(C) w@miymfeas & Fifral surd o fify

(D) Faw Ddwr PR O

(E) ogafmwm O

N
Who is eligible for studydepve? '
(A) A police officer who wants to pursue course off
study/investigation in criminal laws.

(B) A Gowt. servant, who has completed 20 years off
service. Q

(C) A temporary Govt, sEtvant who has completed 3
years of continuous gevice.
(D) A Gouvt. servant \!‘quing in the Agriculture

Department to purst¢ Inaster degree from IARI,
PUSA. O

(E) Question not attemp(gd

TA-gE (st HfE e U ?

(A) % g sttt wihg T S|
wira (3rruer) wrETsd § wire B e )

(B) % TG A, e 20 T o1 daver qui &t
forr 1 o

(C) =% arerd war) {as Rraw ol waa W @

3 ad t &Y fg & 10)

(D) T% @ ¥as wngpiu R & ardta ¥ ot
AT TR ST TS, 3T A0S,
Tt § HEA ATl €D

(E) 3rgafa e ™

¥ e\

Match List I with List 11,

List List 11 ;

(Name of the city) c Colour of the city)

a. Jaipur él Plu;:

b. Jodhpur . Pink

c. Jhala[:var M1, White

d. Udaipur (V. Purple

Tt | & wa g A e afe

w (aam) R ()

a. WUYT = s

b. UG I T

c. HAMETE 1, u¥m

d. T v, &l

Choose the correct anssygr from the options given
below: -

A g o et 4 3)lmunuaﬂdhf‘mz :
(A) a-l, bell, c-11l, d-| 0,{n) a1, 1, eIV, d-111
(C) a-11, b1V, -, &1 (D) 0e1V, belil, c-11, -l
(E) Question not ntlcm@d / Glf;?lﬁ‘d LER
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Arrange the steps of communication proc
s W, o M :. »
I‘:qmb!'l.?lt(lcr ' L:é;g,:{:;%k
g. :gccchﬁcr - decoding 4. fyen
. Lncoding o jons 8!
Choose the correcl llllliWCl‘ from the opl
below : o

051,23 hm 1,4.532
2.3.“'5' | (-' (l)) 3. 4, 5. l|2
Question not attempted

i

2t e 3 o ey i 2l o b i

itz
(4]

. uw 01,
3. gﬂ; fem g O\ 4.
5. Wl Wen ,
Y waﬂﬂt? ‘(llﬂ et 1w W
A) 4,5,1,2,3 (). 1,4,5,3,2

sC) 2,3,4,5,1 (D) 3,4,5 1,2

(6) erafwus

Audit conducted at Fegular or frregular interval
throughout the cnlriséa I‘i‘[l)) p—

(A) Statwtory Audit nterim )

C) CnnlimmusAu:lito‘] (D) Terminal Audit

I5) Question nol attemipled

7 m_i\m Phufim amm;@thugr?n aterret wt R i
gren e gl Fur EEr AR

(C) e ven gl © Y (D) ommafis e gl

(B) orgafta we
What is the order ofgthe procedure included in the

1. Ensure that go
received.

2. Enquirc about 1l q~‘nisnppmpriation if any item
ol creditors has not been paid for a long time,

3. Obtain schedulefolcreditor from the client and
check it with Pugchase Ledger, returns outward
invoice clc. d

4.  Ensure that all [{:I‘Ehascs made durin
have been recordéd in the Books.

5. Check oulslandinﬁ
compare with sche

Chooso the correct

below:

A) 4,5,1,2,3

purchased were actually

 Specific Audit work ig trlispct:t of trade creditors?
o

g the year
ducs to the compan

ule ol creditors. pny and
syver from the options given
QM) 1,2,3.4,5

C) 2,3,4,5,1 (D) 3,1,4,5.2
) Question no o L -

i At 5 14 P e
= -
T G e 0 mmm N
1. e yriua Aa i

?}‘{ g - 'mt,.:
2, wrrat it o 775 5 8

s 613 o 2 Y P tﬁpsz(z? m qﬂ),

s o e sarat e i TeY R gy g
3. Qundl Qe @ gl (nfersn) e gy Ay

wu-ufl, wu A, A gl A Rrag w
4., ue ﬂﬁﬂ'““ ?h‘("ld?b’ al & e oy i mi

ulia () w4l i oifidftas @ Ry o ¢

5, il o) wanur QN3N W R s o

warardl A Wil e won) i b
N Ry e R ¥ Qe S w v T ;
(A) 4,5, 1,2,3 O (m 1,2,3,4,5
(C) 2,3,4,51 ") 3,1,4,5,2
(13) orguita wa

-«
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W

et fnancial Audit is‘mquiredsmmmrily for:

:{:‘;\%&Qmﬁ partnership Firms
B Companit™

% parenership Firm .
13 aim‘.u Undivided Fam‘;ly

Y Qaestion potatempted
:\-.';Tm \ ﬁém%ﬂmﬁﬁumﬁm
SRR 3 Saeas Bl & 7

Q@ il &

@) T
) TRTA T

o=t
D) e ﬁi’ﬂitﬂl(
()

R

SETNE W

taken Insurance Policy on the Stock for

A fim has nce
300000, The stock lving inthe Godown on the date
N

NP s € 430,000 The value of Stock lost in fire is
¥ 1.80,000. The amount of Insurance claim admissible

& "
W S RS %:g.oo.oooas R T it o
"o = b SeE @l fata @ Tﬁﬂﬂ_ (vizr) ® ™ 7
-a‘*sa-;\avu.srnmo%laﬁmasmaﬁgq
5w ) S BN 1.80,000 % | R iy & e
ST S Em e
Q) T1.80.000 (B) ¥3,00,000
(C) ¥1.20.000 (D) ¥4,50,000
{E) Question not attempted / T 9
133 Mach List1with List 1L
Listl List T1
2 Audit L. Record of some important
Programme information gathered prior
to Audit.
% Audit Working 11 Fair allocation of Audit job
NAP2TS among Audit staff.
o Testchecking 1IL Connecting link between

client’s record and audited

account. .
IV. Ensures that entries are
representative of whole
set of Books.

d FE ThEs

FTal &1
Choose the correct answer from the options given
below:
?ﬁmwﬁsﬁiﬁ%aﬂmmmm:
(A) a1V, b1, c-11,d-111 (B) a-1, b-ll, c-1ll, d-1V
(C) 2L b1l e-1V, d-1 (D) a-111, b-1V, c-l, d-11
(E) Question not attempted / ajﬁf’(ﬂ PEL

134

135

nQ

' B, mﬂmma@ﬁam‘mas?

A

ldentif:y thlt? correct order of ¢
operationalisin cut- Sten -
1. Movement gof goc:zs ri?]c:‘:ll&re. s lnvolvq,
~ should be carefully examineg OUt Of g1 \
2. Goods sold but notdelivereg &
3. Stock relating to outsiders ands:mﬂd beg,
be excluded from stock, eld on n,e:'%(
4. Stock owned by the organizat; i
should be inch::ded i,:%?g;ig‘;? Wherey,
5. Goods bought but not receiveq (;fk' oy
in stock in transit. : °“’dbea-%<
Choose the correct answe
below: r from the opjip
(A) 4,5,1,2,3
©) 2,3,4,5,1 (D) 3.4172s
(E) Question not attempted ’
o~ HrafaTy B WA F B firg, e,
el 1 e A T B i
|, g et & g O 99 T & ey
FrEuTgE® T ST | '
2. . i feg ST TG A S TS
3. et s Tl o & e @,
e TE e
4wl e o Rera wTeT & w9
o i & qnferel Rear e e

(B) |,2,3,4'5

fan W @Rl B
1 e T feredl A A T S T
(A) 4,5,1,2,3 " (B) 1,2,3,4.5
©) 2,3,4,51 D) 3,4,1,25

(E) Srgara wet

Select the correct sequence Of St€Ps inve
process of commencement of a company:
1. Commencement of Business

2. Issue of Shares

34 Promotion of Company

4, Incorporation

ped2E

5. Issue of prospectus .
Choose the correct answer from the 0pF™
below : : "1

(A) 3543 5‘ 1‘2 (B) 3'5'%‘;‘1

(C) 2:3,5,:4:1 . Si)) 4,3, 7= 2
(E) Question not attempt 8%
a4 08 T w
ST & #

L w2 W (‘W).'V
3, wen@rwmm 4

5. fyaor ufte frfd = 2
2 R 7 R F A WA T T 0 1

(A) 3.8,5,1,2 ® 3430

©) 33541 (D H>

() gl we [,,_1.1‘

136 .

137
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?rqu‘%as

-3, g 93 ¥ 2o

‘4.  Expenditure o

Subscripti :
'etﬁ‘siir.lpt'o" Yet NOT received for the current

Deducted from subscrinti ;
5 Emendiluie accmms{cnptmn Alc in Income and

ed to subscription A/c in Income and
3 Expenditure accoun{)

+ Shown as Liability in Balance Sheet
%hoosgel‘\‘;n n::: s/t\ss;ct in Balance Sheet
: H) { i
iven b pporpriate answer from the options
A) 2and 4 only B
2 and 3 only ‘ iD;
Question not attempted

T Siarar (%) Rt ot 7 s e

1 and 2 only
3 and 4 only

L. mgmmww(wmamm

2. 3T T gy @ F atyrar o) et Rear s E

T % B H Q97T AT 8

T e
TOUH GaA BT

(A) Fae 2 3w 4 (B) e 13X 2

(C) Haw 23iX3 (D) ¥aw 3 3k 4

(E) Srgaf wed :

How to Avoid Double Counting?
1. Sale of final goods to consumer should be
considered.
2. Adding the value added by all the Economic
entities ‘ '
3. Income of the ?roduccr be added.
. the producer be added, .
Choose the most appropriate answer from the options
iven below:

A) 1and 2 only EB; 3Jand4only
C; 1 and 4 only D) 2 and 4 only
E) Question not atteggted_

AT H w7

1. ift S B IYVER B 49 YT S g e
2. wvit enflres shal & fog g e e @t g
3. SRS bl am:&’r;hmml

4. TAGH HI AT WHs1 1T :

T R e vl o & W9 SO ST A U I
(A) Haw 18R 2 (B) e 3 34

(C) am 1 34 (D) %aw 2 &4

(E) Srgeia 9ed

Which of the following combination is NOT a

characteristic of a successful entrepreneur?

1. Persistent '

2. Selfignorant

3. Rejects Risk

4, Innovative . )

Choose the most appropriate answer from the options
iven below :

2 onl

8 ominh () 2z
P { ot altempte
%3%%3’&'&%qm”mmmmqﬁt?
1. @ad wan :

I ST
3 i s »
% fa ﬁl’éﬁﬁfﬁﬂ%{!ﬁmmmmaﬁﬁ{q

Ll
-;T)IWIW4 (B) ¥4 | ot 2
(C)awazatg (D) e 2 3T 4

139
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Imprest system is used in :

(A) Triple column Cash Book
(B) Single column Cash Book
(C) Double column Cash Book
(D) Petty Cash Book '
(E) Question not attempted

g (arrara) iy 1 s R fear o &
(A) Fa-wiem tg ad)

(B) THW i (s @

(C) Te-wiem s a8

(D) Q=0 % g

(E) argafta wea

Which of the following is NOT. true about leave?

(A) Leave Sanctioning authority cannot revoke leave
due.

(B) Leave is earned by duty only.

(C) Leave cannot be claimed as right.

(D) Leave Sanctioning authority cannot alter the
nature of leave due. '

(E) Question not attempted

Py e Y e e @i ¢ ?

- (A) g8 Higaea Wi 39 g8 B T T BT

el

(B) B2 ST | aifvta wieh #1

(C) B&t &1 & e & w9 ¥ rar T foar o
|

(D) B Wigawal M G & Y& § qiEd
el & Faa| -

(E) oraitd wed

Which of the following is not considered to be recorded
in cash basis of accounting?

1. Cash sale of goods

2. Credit sale of goods "

3. Collection from debtors

4. Payment to creditors

5. OQutstanding rent ¢ :

Chose the most appropriate answer from the options
given below :

(A) 4and 5 only (B) 1and2 only

(C) 2,3 and4 only (D) 2and 5 only

(E) Questjon not attempted

s anur weie, Bt ¥ 4, feed st o
feramy i wean ? ‘

1. agall o e Rt 2, gl o Sur Ry
3, ¥l () AagE 4 AT B

5. g (3ree) e

A1 Ry g R 4 T YR SR T O i
(A) w43l s (B) ¥ 1 92

() ¥uw 2,304 . (D) ¥ 29s

(E) orqafta us
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Which type of Govt. payment shall not be made in cash?
(A) Scholarships in Education Department

(B) Payment of Imprest money

(C) Contingent expenditure

(D) Secret service lind

(E) Question not afly c;nplc'd

oy BT 25 OGBS e & Y oy e 7
(A) faren fovrn & et

Economies with loweh per capita income grow faster
than richer economi€3} This gap in per capita income
between the two ecqngmies is khown as

(A) Liquidity Trap® (B) Convergence

(C) Divergence ) (D) Per Capita Trap

(E) Question not atfeipted -

& ot 390 & ghg B ¥ 1 3R anfaraenet ¥ 78
uftt el ofTg &1 SfFgW e ]

(A) TE@ws QO (B) SET

(C) TR O\ (D) ity =feRT wrer

: M
(E) ‘STgaid 9e7 o

Match List I with L@l.

List I o
a. Declaration of Head of office I.

b. Control of expenditure IL
c. Report of losse 1L

List 11
Rule-11
Rule-4
Rule-3

d. Removal of doubts IV. Rule-20
@l%mu@u%ﬁaﬁﬁﬁm
{t

Tl O gcll

a, @AY 9YE I w1
b, ara @ fraae O . Praw-
¢, T e ' R frram-3
d. HEEi @ gl 1v. frm-20

Choose the correci-answer from the options given
below : -

5 fo g Fergredi ) Tl et @ o

(A) a-lll, bIL, 1AV (B) a-ll, bl eIV, el

(© i, bel, VL (D) al, bl e, 1V
- |

(E) Question not :tllsmplcd / STt e

GET IT ON
Google Play

145 Match List I with List 11,
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List 1 List 11
a. Goingconeem L Accoyy
concept 08565 by nr cx%q
b. Prudence Q. Evenys 'hatm “"h-
concept Q) capable of are ey 4
. ﬁ} N money gy, . 0
c. Matching (v ’ll. Businesg ‘.,“? gy
Cl forCScoab,e fu{e
d. Moncy V. Revenye of ¢
measurement () ACCOUNting pe O
concept (] taken againg
. €Xpenses of
| & T T 1 e i) e
|

1v. ffbre deis
QO @l & g @i
O Fmre
Choose the correct dngwer from the opties
below :

. ‘ﬁﬂﬁﬂﬂtzﬁaﬁ@fﬁgﬁmmmﬁﬂ

@B) al, bl ¢l
@) -1l bl e
v

(A) a1V, b1, e-11, d-]1L
(C) a-Il, b-I11, c-1V, d
(E) Question not attempted /

3 !
A Government ser[a_lslt’s lien on post =

terminated on -

(A) performing the Suties of that post.

(B) the request of Gb\t. employee which
without lien.  {¥) <

(C) being suspended from the peﬂﬂi‘""mz o

(D) his acquiring a liey on a perman<”

the cadre, J
(E) Question not anc@pted ﬁgﬂ;

fFh vz ot wemrly dad &
W1 EHAT § i
(A) 6 W & s PaE -
(®) mmﬁ@ trtrﬂ“?“-“@R
urtnim & wyep ¢

fers!

- (C ql .
(C) v vz 3 frifpey R md&'

(D) mammmw“"
T & w1 O
(E) sMefmus o R —
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147 Match Lj ith Li
tL e, 1st [ with List I1. i 150  Match List 1 with List 11,

148

149

a. Leave cannot be claimedasaright 1. Rule-62
b. Power to exempt ] R:lgga
. Recall from leave 111, Rule-59

d. Medical certificate for gazetted IV. Rule-66

officer
I 1% w1a gt 11 & frem i)
e T
Ty @ 1. -62
6 T o w
b. T2 3wt 7 Pra-70
c. B3 § i e 11, Praw-s9
d. Tagiyd s & Iv. Praw-66
fattsen wes

glloose the correct answer from the options given
oW :

g XU 7 fomedi ® | wél Tut B 99 DIty :
(A) a-IV, b-Il, c-1l1,d-1 (B) a-lll, b-II, c-IV, d-1
(C) alIl, b1, c-1V, d-1Ix (D) a-1V. b-l, c-11I, d-11,
(E) Question not attempted / STTIa We

The primary qualities that make accounting information
useful for decision making are:
(A) Presentability

(B) Relevance and consistency
(C) Free from bias

(D) Reliability and comparability
(E) Question not attempted _
WETET QA B FIOaA &g SUanT & el WS
fasaar &1 § 7 _

(A) W& fﬂ araar

(B) WrgFTaI e Frawr

C) EWEIFHE -
(D) TarsageTaa T3 gerresal
(E) a9 :

Contingent Assets include the following,
1. Uncalled share capital of the company.
Legal suit for recovery of debt.

Insurance claim. . X
Unpaid arrears of dividend on the Cumulative

Preference Share of the company.
Option to apply for share in other company on

favorable terms. . Ny
Choose the most appropriatc answer from the options
iven below:
(g:&) 4 ontlf' (B) 1 and 2 only
(C) 2an 5 only ((l])) 3 only
E) Question not attempte '
(8 e e e s B/t

HEHED % frefeit
1. e @i fae A at;rgilhl

B

_2, = & @y &g

3. 9zl .
4, &9 & qadl ST YU T TSt & S7eH TG |

5. W:ﬁwmmﬁim%mmm
ﬁrﬁﬁfgqv;qfaﬁﬁﬁﬁmﬂwgﬁmmm
Hifa :

List1 List 11
a. Promissory 1. Unconditional written
note undertaking signed by the
maker, to pay a certain
sum of money to certain
person or order

b. Bill of II. Instrument drawn on
exchange specificd Banker not
expressed to be payable
otherwise than on demand
c. Cheque 111. Unconditional written order,

signed by maker directing
certain person to pay @
certain sum to a certain
person or on his order

d. Bankdraft IV, Order issued by one bank to
another Bank or its Branch
instructing the latter to pay
a specificed sumtoa
specified person on his order

Tt 1% gy gt 113 frem S
Tl Tl

Rt =fi &1 F© TN
1 T B 5w A T
3 9 g v (fE
ot Rftaa anyarem) amay
b RbFmwe 11 R & o sl v
dmE M EE S e H
gyitar W

. 3 9 & B EEEE
o1 ffaer omyr el ww
P e ¥ B st =i
& g g Tl e afe
AT TES BT RN B
a1 fean wma

& &% 70 fed gut dw
uar I gmen & fre @
P e amer R Reely
Tt & ot frdar o e &
fin whrqy wfa & o Iws
e gt v fafiie wftr
s fa wng

a, 99194 1.

d. &%

" Choose the correct answer [rom the options given

below

A Py e Pl N R W T w T Wi
(A) eIV, bel, el d-l1 - (BY<a-l, bRl g5l d-1V
(C) a-ll, b-lll, ¢V, d-l (D) aelll, b1V, e-l, d-Il,

(E) Question not attempted / AR ued

- o —
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